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187 —BEZ187E ¢11370 =R 532 % 11150
REE = SRERR SR AE R 9.7 9 9.7 100 7.5 60 00 00 25 00 2 7.4 58 00 00 11 08 00 97 2 1 o s
187 —BEE 1875 ¢11380 5 i F1 55 EHHT - EAIGET 5 11160
REB1875 SR AIH R = HET - RABE R 58 5 58 101 7. 60 00 00 25 00 2 54 52 00 00 07 04 00 58 0 1 o s O
187 —BEZ187S ¢11390 EHET - EAHET 1 11170
REE = SHE - RAHE B LR ERR 2.9 2 29 11.0 85 65 00 00 25 00 2 29 29 00 00 00 00 00 16 0 2 o s
187 —BEE 1875 ¢11400 51 Al BES 11170
REE1875 LRz AllE B R 7.5 7 7.5 1.0 85 65 00 00 25 00 2 75, 7.5 00 00 00 00 00 75 1 2 o s
187 —BEZB187S ¢11410 Al B RS —BEEOS 11170
REE = RIIE B RS REESS 0.6 0 0.6 1.7 7.0 60 00 00 25 00 2 0.6 0.6 00 00 06 06 00 06 1 2 o s
s 37.5, 37.5 315 34.4 304 00 00 40 24 00 362 10 271 0
191 —BEZB1918 ¢11470 —BEHES =@ 11220
REE = REEOS BESHR 0.5 0 0.5 181 1.1 65 00 00 35 00 2 0.5, 0.5 00 00 05 05 00 05 2 2 o s
191 —BEE 1918 ¢11480 =M =M 11220
R = BESHR BESHR 0.2 0 0.2 180 1.0 9.5 00 00 35 00 2 0.2 0.2 00 00 02 02 00 00 1 1 o s
191 —BEZ1918 ¢11490 =@ =he# 11230
REE = BESHR HEAZRE 1.3 1 1.3 180 1.0 7.0 00 00 30 00 2 1.3 1.3 00 00 13 13 00 00 4 5 o s
191 —BEE 1018 ¢11500 =184 I8 11240
Rl = HEA=RER HEA=RER 0.6 0 0.6 175 1.0, 7.0 0.0 00 35 00 2 0.6 0.6 00 00 06 06 00 02 2 2 o s
191 —BEZ1918 C11510 =ig# oIl 11240
REE = HEAZRS BRI 1.0 1 1.0 101 83 65 00 00 1.8 00 2 1.0 10 00 00 00 00 00 00 1 0 o s
191 —BEE 1018 C11520 BN BN 11240
i = BEZ/IR BEEZ/IR 5.4 5 5.4 130 80 65 00 00 25 00 2 5.4 54 00 00 27 27 00 54 2 5 o s
191 —BEZ1918 C11530 4 EEMEERY 11250
REE = BRI RAER B RS 2.0 2 20 1.0 85 65 00 00 25 00 2 20 20 00 00 04 03 00 20 I 3 o s
191 —BEE 1918 C11540 EREEESS % 11250
R = RALEREEREHR KA R 45 4 45 1.0 85 65 00 00 25 00 2 45 45 00 00 12 1.2 00 45 1 5 o s
191 —BEZ1918 ¢11550 4 P 4 11260
REE = KL SRR 5.4 5 5.4 130 80 65 00 00 25 00 2 54 54 00 00 33 33 00 26 I 7 o s
191 —BEE 1018 C11560 % p % 11270
R = REXHER BB 9.3 9 9.3 70 70 55 00 00 25 00 2 25, 20 00 00 00 00 00 00 0 2 o s
191 —BEZ1918 ¢11570 b ¢ P 4 11280
REE = AR AR 2.2 2 22 1.0 85 65 00 00 25 00 2 22 00 00 00 01 00 00 06 0 2 o s
191 —BEE 1018 C11580 p % BEDERSE 11280
il = BB BEREDRE 9.5 9 9.5 1.0 85 65 00 00 25 00 2 721 00 00 00 04 00 00 34 0 1 o s
B 4.9 41.9 419 327 229 00 00 107 101 00 192 15 35 0
261 —BEE26 18 €11590 BEDRE FERS 11290
e = BEREDRE PR AT 3.8 3 3.8 1.3 7.8 65 00 00 30 00 2 23 0.8 00 00 01 00 00 38 0 1 o s
261 —WE#E26 18 ¢11600 R ERF BT 11300
REE = HPR AT SHEmK 46 4 46 1.0 75 60 00 00 25 00 2 46 34 00 00 10 06 00 46 4 11 o s
261 —BEE26 18 C11610 =H . 11310
e = SHBRE REMEAR 5.0 5 50 70 7.0 55 00 00 20 00 2 1.2 1.2 00 00 00 00 00 50 0 7 o s
261 —WE#E2618 ¢11620 P , P , 11310
REE = Sl Sl 3.3 3 33 105 7.5 60 00 00 30 00 2 31 23 00 00 01 01 00 33 1 2 o s
261 —BEE26 18 C11630 . £ 3 H T2 11320
il = REMEAR EHELRR 1.5 1 1.5, 10.1 80 65 00 00 30 00 2 5. 05 00 00 00 00 00 15 1 4 o s
261 —WE#26 18 C11640 £ 3 ST 32 = AT - I 1 11320
REE = EHRETRE BRI - KA 5 41 4 41 85 70 60 00 00 19 00 2 0.7 00 00 00 01 00 00 41 0 2 o s
261 —BEE26 18 ¢11650 2 AT - I 1 NAlES: 011330
il = BRI - KA 5 AR 4R 2.2 2 22 150 85 65 00 00 30 00 2 1.3 0.4 00 00 04 04 00 18 0 4 0 50
261 —BEZ2618 C11660 TlES. BRENIAY 011330
REE = FIR I BRBIIKER 0.4 0 0.4 123 7.3 60 00 00 25 00 2 0.4 0.4 00 00 00 00 00 04 1 0 0 50
261 —BEE26 18 C11670 BRI IAHT - T3 35 011340
e = BRRNIAHR NIKED - TR 3.7 3 37 95 80 60 00 00 15 00 2 37 01 00 00 00 00 00 37 0 1 0 50
261 —BE#26 18 ¢11680 IAET - ST 35 25T S i 011340
REE = NIKED - LR 1 BT AR 0.9 109 10.9 9.5 80 65 00 00 1.5 00 2 1.9 00 00 00 00 00 00 109 2 2 0 50
261 —BEE26 18 ¢11690 TS S —BEE26 18 Q11350
R = BT 2R REE = 1.2 1 1.2 11.5 7.8 65 00 00 38 00 2 1.1 1.1 00 00 01 00 00 11 0 3 0 50
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261 —REE2615 c11700 —REE261% —REE261% 0.8 0.8 0.8 9.0 7. 6. 0. 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.8 0 1 0 50 011360
261 —REE2615 CH7I0 —HEN2615 NIFHRAR 4.4 4.4 4.4 8.1 6. 5. 0. 0.0 1. 0.0 2 2.9 0.7 0.0 0.0 0.2 0. 0.0 4.4 1 2 0 50 011360
261 —HREE2615 c11720 TS NTFEE 1.3 1.3 1.3 7.0 7. 5. 0. 0.0 1. 0.0 2 0.4 0.4 0.0 0.0 0.0 0. 0.0 1.2 0 2 0 50 Q11360
261 —REE2615 C11730 NIFFRAR NIFFRAR 0.1 0.1 0.1 9.8 7. 5. 0. 0.0 2. 0.0 2 0.1 0.0 0.0 0.0 0.0 0. 0.0 0.1 0 1 0 50 Q11370
261 —HREE2615 C11740 NTFEE —REEOS (LR//1) 6.5 6.5 6.5 1.7 6. 5. 0. 0.0 1. 0.0 2 6.5 0.5 0.0 0.0 1.8 0. 0.0 6.0 1 2 0 50 atis7o
261 —REE2615 C11750 —HEN2615 —HEN2615 1.2 1.0 0.9 8.5 6. 5. 0. 0.0 2. 0.0 2 0.7 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 2 0 50 011380
i 55.0/ 54.8 54.7 41.4 11.8 0.0 0.0 3.8 1. 0.0 52.7| 11 47 0
314 —REHE3 145 C11760 ERR & DR MIFRAR 1.9 11.9 11.9 10.0 7. 6. 0. 0.0 2. 0.0 2 11.8 0.0 0.0 0.0 0.3 0. 0.0 11.5 0 16 0 60 a113%
314 —REES 145 e MIFESE RSN 0.0 0.0 0.0/ 13.4 10. 8. 0. 0.0 3. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 1 0 60 011400
314 —REHE3 145 C11780 EFIFHAIR THREUESAFRSR 1.2 1.2 1.2 11.0 8. 6. 0. 0.0 2. 0.0 2 1.2 0.0 0.0 0.0 0.1 0. 0.0 1.2 2 2 0 50 011400
314 —REES 145 C11790 TREUE=REERR REZ 2K 2.3 2.3 2.3 8.5 6. 5. 0. 0.0 2. 0.0 2 2.3 1.8 0.0 0.0 1.1 1. 0.0 2.3 2 8 0 50 011400
314 —REE3 145 C11800 mESER HAMER 0.4 0.4 0.4 9.5 6. 5. 0. 0.0 1. 0.0 2 0.4 0.1 0.0 0.0 0.3 0. 0.0 0.0 0 2 0 50 ati4io
314 —REES 145 c11810 RERER ATARE R 0.1 0.1 0.1 9.8 7. 5. 0. 0.0 2. 0.0 2 0.1 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 1 0 50 ati4io
314 —REE3 145 C11820 ARMER —HEN4325 5.9 5.9 5.9 10.0 7. 6. 0. 0.0 2. 0.0 2 5.9 1.5 0.0 0.0 0.1 0. 0.0 0.0 0 7 0 50 ati4io
314 —REES 145 c11830 —REE432% —REE4325 2.3 2.3 2.3 1.7 7. 5. 0. 0.0 2. 0.0 2 0.9 0.8 0.0 0.0 0.1 0. 0.0 2.3 0 1 0 50 011420
314 —REE3 145 C11840 —HEN4325 TREUESAFRSR 0.3 0.3 0.3 13.3 8. 6. 0. 0.0 2. 0.0 2 0.3 0.3 0.0 0.0 0.3 0. 0.0 0.3 1 0 0 40 011420
314 —REES 145 C11850 TREUE=REFERR EREELR 0.5 0.5 0.5 9.8 7. 6. 0. 0.0 1. 0.0 2 0.5 0.0 0.0 0.0 0.0 0. 0.0 0.5 1 0 0 40 011420
314 —REHE3 145 C11860 ERSELN Ri=hr - 2w 0 4.4 4.4 4.4 9.0 9. 6. 0. 0.0 2. 0.0 2 0.6 0.0 0.0 0.0 0.0 0. 0.0 2.5 0 7 0 40 011430
314 —REES 145 c11870 ARy - Hew & HBAHRR 2.8 2.8 2.8 9.0 9. 6. 0. 0.0 3. 0.0 2 0.7 0.6 0.0 0.0 0.0 0. 0.0 0.6 1 2 0 40 011440
314 —REHE3 145 C11880 HERMER HERMER 4.4 4.4 4.4 10.5 8. 6. 0. 0.0 2. 0.0 2 3.9 0.8 0.0 0.0 0.2 0. 0.0 4.4 2 4 0 60 011440
314 —REES 145 C11890 HBAHBR HERR®R 5.7 5.7 5.7 9.8 7. 6. 0. 0.0 2. 0.0 2 3.1 1.3 0.0 0.0 0.4 0. 0.0 5.7 1 9 0 60 Q11440
314 —REE3 145 C11900 BaxHa BaxHa 1.8 1.8 1.8/ 10.5 8. 5. 0. 3.0 2. 0.0 2 1.8 1.8 0.0 0.0 0.1 0. 0.0 1.8 0 4 0 50 011440
314 —REES 145 ch910 HERR®R —REES 1 4 SRRER R 2.1 2.1 2.1 8.7 6. 5. 0. 0.0 2. 0.0 2 2.1 2.1 0.0 0.0 0.6 0. 0.0 2.1 1 3 0 50 011450
314 —REHE3 145 CUIS20°H —BELE S 1 4 SRR & i AR 1.0 1.0 1.0/ 10.5 8. 6. 0. 0.0 1. 0.0 2 1.0 1.0 0.0 0.0 0.0 0. 0.0 0.0 1 0 0 60 011460
314 —REES 145 C11930 RRARSR —RE#5 4% 1.0 1.0 1.0/ 11.0 8. 6. 0. 0.0 1. 0.0 2 1.0 1.0 0.0 0.0 0.3 0. 0.0 0.0 2 0 0 50 011460
i 48.1) 48.1) 48.1 37.6 13.1 0.0 0.0 3.9 1. 0.0 35.2| 14 67 0
375 —REE37S5H C11940 BRI & OWE il 2.0 2.0 2.0 1.5 7. 6. 0. 0.0 2. 0.0 2 0.7 0.7 0.0 0.0 0.0 0. 0.0 2.0 0 2 0 60 ati470
375 —REE3755 C11950 il LS 1.3 1.3 1.3 9.5 7. 5. 0. 0.0 2. 0.0 2 1.3 1.3 0.0 0.0 0.1 0. 0.0 1.3 0 2 0 50 011480
375 —HREES75F C11960 BRI BRI 1.7 1.7 1.7 10.1 7. 5. 0. 0.0 2. 0.0 2 1.7 1.7 0.0 0.0 0.0 0. 0.0 1.7 1 3 0 50 011480
375 —REE3755 C11970 il NIE= B 5.2 5.2 4.8 7.0 1. 5. 0. 0.0 1. 0.0 2 0.4 0.4 0.0 0.0 0.0 0. 0.0 3.6 0 5 0 50 011480
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375 —BEE37 558 C11980 BT A8 7 Q11480
s = NI SRR RBIEER 8.4 84 84 11 9. 6. 0. 0.0 1. 0.0 2 0. 0.0 00 00 00 O 0.0 84 1 3 0 50
375 —BEE37 558 C11990 . 1A 2 Q11490
wEE = i NERE R 2.7 27 27 11 8. 6. 0. 0.0 2 0.0 2 2. 27 00 00 00 O 0.0 00 1 3 0 50
375 —BEE37 55 €12000 [EXE2 A2 11490
s = NERS R NERS & 0.8 0.8 08 10 7. 6. 0. 0.0 2 0.0 2 0. 0.7 00 00 0.2 o0 0.0 01 1 4 0 50 | O
375 —BEE3 7 58 €12010 B e —BEE3 7 58 11500
KBEES75% NERS R BEE3 7S5 26 23 03 6. 6. 5. 0. 0.0 2 0.0 1 0. 000 00 00 00 O 00 26 0 2 0 0
375 —BEE37 55 €12020 —BEE37 58 —BEE3 7 58 11500
s = BEE = BEE = 25 25 25 8 8. 6. 0. 0.0 0 0.0 2 0. 0.0 00 00 00 O 0.0 00 0 2 0 5 | O
375 —EEE3 7 58 £12030 —BEE3 7 58 % 11500
BEES75% BEN3 7S5 RRARA 19 19 1.9 11 8. 6. 0. 0.0 2 0.0 2 1 00 00 00 02 o0 0.0 19 2 7 0 0
375 —BEE37 55 €12040 4 . 15 11500
s = RBAHR R - REH K 0.5 0.5 05 11. 8. 6. 0. 0.0 2 0.0 2 0. 0.0 00 00 00 O 0.0 05 0 0 0 60
375 —EE3 7 58 £12050 . 15 &% 11510
BEES75% AT - KEW A DI &8 6.6 66 66 11 8. 6. 0. 0.0 2 0.0 2 6. 30 00 00 04 o0 0.0 47 1 8 0 60
375 —BEE37 558 ¢12060 I&# 23T 4 11520
s = TR REBTHR 3.6 36 36 O 6. 5. 0. 0.0 2 0.0 2 2. 23 00 00 02 O 0.0 36 3 6 0 0
375 —BEE37 58 €12070 TS —BEES 11530
BEES75% REHTHR REE S 25 25 25 16 9. 6. 0. 3.0 3 0.0 2 2. 16 00 00 24 1 0.0 25 7 9 0 0
e 4.3 420 39.6 220 144 00 00 35 1. 0.0 329 17 56 0
431 —EEA4 318 €12090 —feEE o2 AN 11550
BEE431S REE S HERLR 1.4 1.4 1.4 12 7. 6. 0. 0.0 2 0.0 2 1. 1.4 00 00 14 1 0.0 00 3 4 0 50 O
431 —REEA4 318 ¢12100 BN —EE43 18 11560
s = SEELR BEE = 3.8 38 38 14 8. 6. 0. 0.0 3 0.0 2 3. 38 00 00 38 3 0.0 00 4 17 0 50 O
. . . Q11570
431 —EEEA4 318 C12110 —eEE4 318 —eEE4 318
BEE431S BEE4315 BEE4315 3.0 30 30 283 19 6. 9. 0.0 4 0.0 2 2 21 00 00 21 2 0.0 00 2 23 0 60 | Q11580
431 —REE4 318 C12120 —EE4 318 —BEE4 318 11590
s = BEE = BEE = 1.2 1.2 1.2 492 10 8. 0. 0.0 3 0.0 2 1. 1.2 00 00 12 1. 0.0 00 1 7 0 60
431 —BEE43 18 C12130 —EE4 318 S Q11600
wEE = HEE = KL AR 27 27 27 16 9. 6. 0. 3.0 3 0.0 2 2. 27 00 00 21 2 0.0 00 1 9 0 50
431 —REEA4 318 C12140 s —BEE4 3 1 DRSS 11610
s = KA E S BEE BRAMRES 0.9 09 09 12 9. 7. 0. 0.0 1. 0.0 2 0. 0.3 00 00 09 o0 0.0 09 1 1 0 0
431 —EEE4 318 C12150 —fBEE 4 3 1 BR%ES ES X 11620
BEE431S HEE 4 3 1 SREMR ENHEXLR 0.5 0.5 05 12 7. 5. 0. 0.0 5. 0.0 2 0. 0.4 00 00 02 o0 0.0 05 1 1 0 0
431 —REEA4 318 C12160 21| HE A TR 11630
s = BIHEALER BRI 22 22 22 12 7. 6. 0. 0.0 2 0.0 2 2. 22 00 00 1.1 1 0.0 22 1 7 0 50 O
431 —EEE4 318 ¢12170 kA EESTHE Q11630
wEE = MEXHH EESTHR 15 1.5 15 9 6. 5. 0. 0.0 1. 0.0 2 1. 15, 00 00 00 O 0.0 15 2 4 0 50
431 —REEA4 318 C12180 EIE ST —BEE4 318 11640
e = EESHR BEE = 19 19 19 8 6. 5. 0. 0.0 2 0.0 2 1. 19 00 00 00 O 0.0 09 2 9 0 50
431 —EEA4 318 C12190 —eEE4 318 —BEEA3 18 (N8 11650
BEE431S BEE4315 BEE4 318 U343R) 42 42 42 8 6. 5. 0. 0.0 2 0.0 2 2. 0.7 00 00 02 o 0.0 40 7 5 0 50
431 —REEA4 318 12200 —fREE4 318 (AR ABETEES 11660
s = BEE 5 AR TAREIFERR 31 31 31 78 63 53 00 00 15 00 2 27 27 00 00 00 00 00 00 4 3 o s
431 —EEA4 318 €12210 ABEITEESS 2T 11660
BEE431S TABEIRRSR MRS 0.5, 0.5 05 16 9. 7. 0. 0.0 3 0.0 2 0. 0.5, 0.0 00 05 0 0.0 05 1 1 0 50
431 —BEEA4 318 €12220 IMPE EFMY 11670
s = hMERER HMETFHR 0.3 0.3 03 16 9. 6. 0. 15 3 0.0 2 0. 0.3 00 00 03 o0 0.0 03 1 2 0 0
431 —EEA4 318 €12230 ETmY TR 11670
EEE4315 MEFER FRERR 0.4 0.4 04 16 9. 6. 0. 15 3 0.0 2 0. 0.4 00 00 04 O 0.0 04 2 1 0 0
431 —BEEA4 318 C12240 T TR TS 11670
s = FHERSR TEFLIR 0.1 01 01 16 9. 6. 0. 15 3 0.0 2 0. 0.1 00 00 01 O 0.0 01 1 0 0 0
431 —EEA4 318 C12250 T HEESE EHF DB AIERE Q11680
wEE = TEFRAR HEmF RO BXERE 0.9 09 09 16 9. 6. 0. 15 3 0.0 2 0. 09 00 00 09 o 0.0 03 2 3 0 40
431 —BEEA4 318 €12260 EHEEET OB AEES 21| — B K2 Q11690
s = HEHFEET RO SRR BN AR 2.5 25 25 10 7. 6. 0. 0.0 2 0.0 2 2. 25 00 00 25 1 0.0 24 3 13 0 50
431 —pEE43 18 €12270 I1— % I1— % Q11700
wEE = Ll —EXHR Tl —EXHR 3.4 34 34 0 6. 5. 0. 0.0 3 0.0 2 2. 13 00 00 04 0 00 19 7 ) 0 40
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= s RinmRa® RinmRa® E »m tE A A A B %A A EA 4 =~ 7 ! "z N EE;
E =E #EE UE #E EE EE vl L loml |
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) km) | (km) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
a1 TREE4S TS C12280 BN—ERR HE® - IH R 28 28 28 105 75 60 00 00 30 00 2 25 25 00 00 00 00 00 00 0 4 o 5 0O
4 —REB4S1S 012290 HE® I B s 09 09 09 80 80 60 00 00 41 00 2 01 00 00 00 00 00 00 00 0 2 o g %
a1 —REE4S TS €12300 AHRABER ARELR 89 89 89 105 80 60 00 00 25 00 2 71 55 00 00 10 04 00 16 3 15 o g 7%
4 —REB4ST1S c12310 MEETHR HITR & XRER 40 40 40 85 65 55 00 00 20 00 2 39 35 00 00 17 16 00 13 5 9 o 5 174
A —REE4S TS c12320 HILRERRBIR HITREXREER 02 02 02 3.8 180 155 15 00 45 00 4 02 02 00 00 02 02 00 00 2 1 o a4 OO
A —REB4ST1S 012330 HILREXRRR BKETA HATR 03 03 03 143 90 80 00 00 25 00 2 03 03 00 00 03 00 00 03 2 o o a4 0
A TREE4S TS C12340 BRAAAAR HITBRA 03 03 03 131 82 67 00 00 20 00 2 03 03 00 00 02 00 00 00 2 1 o a4 O
4 —REB4S1S 012350 i AEREEITR 06 06 06 150 90 70 00 00 30 00 2 06 06 00 00 06 06 00 06 3 o o a4 7
a1 TREE43 1S C12360 AEREINLER TREHA4S TS (AR 1.1 10 07 150 90 75 00 00 30 00 2 11 07 00 00 07 07 00 11 6 5 o 4 %0
1| TREEA31S VAR | GBI —REE4 3 1R UiAR) HIT SRR 0.3 03 03 2.0 160 130 1.5 00 45 00 4 03 03 00 00 03 03 00 03 I 2 o 5 B0
Q1| ~REEA3 1S UM8) | 012380 ML SR AR WELETERE LR 05 05 05 200 156 136 10 00 32 00 4 05 05 00 00 05 05 00 05 2 2 o s O8I0
131 —@REEA3 18 (S1KR) 12390 BT R & AL 1| 2B ch S & vol 1ol 1el sa1l 161l 3l 14 ool sol ool 4 s 1o oo oo 1o 1s oo 1 1 s o g O
Q1| ~REEAS1H OAR) | O WHLEIBSRRRE R —REH485S 03 03 03 2.7 206 196 10 00 35 00 4 03 03 00 00 03 03 00 03 1 o o s 010
B | TREE431H UiMAR) 612410 TREH4ESS TERAERER & R 09 09 09 20 160 130 15 00 30 00 4 09 09 00 00 09 09 00 09 2 2 o s o180
Q1| TREEA31H UMAR) | 0124 =8) =8 07 07 07 220 160 130 15 00 30 00 4 07 07 00 00 07 07 00 07 2 2 o e O
A —REB4ST1S 012430 TERABRER L RGE TREE4315 23 23 23 20 160 130 15 00 45 00 4 23 23 00 00 23 23 00 23 5 3 o a 180
1 TREE43 TS c12440 TRERAS1S AR .5 1.5 1.5 188 108 66 00 21 40 00 2 15 15 00 00 15 15 00 00 o 3 o g 180
4 —REB4S1S 012450 AR AERREITR 0.6 06 06 163 78 66 00 00 45 00 2 06 06 00 00 06 06 00 00 1 1 o g 180
1 —REE43 1S c12460 AEREINLER —RE#4S TS 0.3 03 03 17.9 109 97 00 00 35 00 2 03 03 00 00 03 03 00 02 1 o o a 80
41 —REB4s1S c12470 —REBSIS HIT ERER 34 34 34 110 75 60 00 00 35 00 2 34 29 00 00 03 00 00 34 3 7 o 5 80
1 —REE43 TS C12480 HILERER —RE#4S TS 09 09 09 75 75 55 00 00 25 00 2 03 00 00 00 00 00 00 09 1 2 o a4 80
4 —REB4ST1S 012490 TREE4S TS TREE4E85S 68 68 68 65 65 55 00 00 25 00 2 31 00 00 00 03 00 00 68 1 7 o 5 180
a1 —REE4S TS C12500 “REBasSS RERBR 10 10 10 65 65 55 00 00 10 00 2 01 00 00 00 00 00 00 10 2 2 o a4 190
1| ~RERLS1E (R | 612510 BERRR RRREORE 1.1 09 09 85 65 60 00 00 10 00 2 09 00 00 00 09 00 00 09 o0 o o a4 190
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37 AT , 41210 —BEE4 318 ST 041390
HITERRRNR eEE = AEEERLIR 0.6 0.5 0.5 20.0 131 11. 0. 0.0 35 00 2 0.5 05 00 00 05 O 0.0 05 5 2 0 40
. s . Q41400
37 0 . 41220 EE T 03
HILERRRER AEEEHIR ARRERR 3.4 3.4 30 160 9.0 6 0. 1.5 35 00 2 3.4 20 0.0 02 31 2. 0.0 34 9 17 0 50 041410
. s s 041415
37 AT , 41230 EEAEEY g ST
HITERRRAR HARERE AR TR 3.4 3.4 3.4 160 80 6. 0. 0.0 40 00 2 3.3 30 00 00 1.7 1. 0.0 34 2 19 0 50 Q41420
37 0 . 41240 EE AW 54 A R 41430
HIIESRRER MR ABRBBRR 3.9 39 39 120 85 6. 0. 000 35 00 2 3.6 2.7 00 00 04 O 0.0 39 4 13 0 40 ¢
. - . 041440
37 AT , 41250 34 R \ST B4R
HITERRRAR AEREEER HLAiR 14.2| 129 56/ 6.5 6.5 5. 0. 0.0 1.7 00 2 3.5, 0.2 00 00 04 O 0.0 9.6 1 24 0 40 | 041450
37 0N . 41260 0 # 0 . 41460
HILERRRER HILBRR HILBRR 0.2 00 00 36 36 2 0. 0.0 0.0 00 T 000 00 00 00 00 O 0.0 0.0 0 2 0 30 0
. . N 041470
37 AT , 41270 \ST B4R T 5E
HITERRRAR HLNiR BT tRER 14.1] 13.6 13.3] 10.0 7.5/ 6. 0. 0.0 25 00 2 0.2 3.2/ 00 0.0 05 O 0.0 135 0 39 0 40 | 041480
37 /93 i (41280 NIEEES —fREE 4 = 41490
HILERRRER W TRER BENE4855 6.2 56 3.9 100 7.5 6. 0. 000 25 00 2 3.7 0.0 00 00 00 O 0.0 52 0 17 0 40 ¢
G 47.1 44.3 34.6 29.2 126 0.0 0.2 7.5 4 0.0 40.6 27 135 0
38 & . 41290 —BEES 42 HHIER 41500
BebFHR BEES 45 = HRRR 6.7 6.7 6.7 80 80 6. 0. 000 25 00 2 1.5, 0.9 00 00 01 o0 0.0 67 0 11 0 60 0
041500
38 & L3 41300 = HIEE HHRHEY
HELRHR = ERER EEAHRR 45 29 29 93 68 5 0. 0.0 25 00 2 2.6 1.4 00 00 02 O 0.0 1.4 3 13 0 40 | 041510
38 & LA 41310 EHBEHEE = - BHERT 041520
BebFHR = EREHER M - RAEAT 29 00 00 40 40 3. 0. 000 0.0 00 1 000 0.0 00 00 00 O 0.0 0.0 0 2 0 60
38 & L3 41320 = - BUHEAT 15 —EEE 4 328 41520
HELRHR F - SRR 5 eEE = 51 45 45 11.0 85 6. 0. 0.0 25 00 2 3.5, 0.7 00 00 01 O 0.0 27 0 9 0 60 ¢
38 & LA 41330 & L34S —BEE4 328 041530
B bFHR BeLAAR HEE = 0.6 03 00 45 45 3 0. 000 0.0 00 1 0.1 0.1 00 00 01 O 0.0 0.0 0 2 0 40
G 19.8) 14.4 141 7.7 3.1 00 00 05 o0 0.0 10.8 3 37 0
39 ; &4 41340 —BEEIE ; & 41540
Ml &4 REE S BRITHHER .99 1.9 1.9 97 7.0 5 0. 0.0 27 00 2 1.2 00 00 00 01 o0 0.0 0.6 2 9 0 50 ¢
39 ; B4 41350 LR —fEEHE184E 41550
HiRE S SRIMHER eEE = 6.9 69 69 7.0 7.0 6. 0. 0.0 27 00 2 1.5, 0.0 0.0 00 01 o0 0.0 26 1 11 0 60 ¢
. 041560
39 ; &8 41360 —BEE1 848 Ef-E ]
Ml &4 HEE = MEm - ERm M 7.4 7.4 7.4 80 80 6 0. 0.0 25 0.0 2 1.9 1.7 00 00 01 O 0.0 31 2 16 0 60 041570
39 ; B4 41370 Ef-E & —fBEES 48 41570
HiRE S wED - ZEH R REES 45 6.4 6.4 6.4 80 80 6. 0. 0.0 25 00 2 2.6 0.0 00 00 01 O 0.0 0.0 0 22 0 50 ¢
o 226 22.6 22.6 7.2 1.7 00 00 04 o0 000 63 5 58 0
40 EN-ES 41380 —fEEE26 18 [ Y 41580
NEBEH eEE = AR 3.4 3.4 34 11.2 6.8 5. 0. 0.0 25 00 2 3.4 34 00 00 20 O 0.0 34 1 8 0 50 ¢
40 AR 245 41390 | X ~ FE & 7 41580
NERSH NEXRHR CRANR 0.5 04 04 60 60 5 0. 000 1.5 00 2 0.2 00 00 00 01 O 0.0 0.4 1 2 0 50 0
40 EN-ES 41400 [~ FE B | . ] 41590
&S 8 R EmR NIRRT - SEMAT 1 2.8 1.2 1.2 10.0 7.5 6. 0. 0.0 25 00 2 1.3 0.0 00 00 00 o 0.0 28 0 9 0 50 ¢
40 IEE2" 41410 | . % —BEE37 58 041600
NERSH NIAHT - SSABRAT HEE = 1.6/ 10.5 10.2| 11.0 85 6. 0. 000 25 00 2 7.9 6.2 00 00 03 o 0.0 11.6 0 29 1 30
40 ENES 41420 —BE®37 58 N 1 041610
xS 8 eEE = R - REH K 23 2.1 21 11.0 85 6. 0. 0.0 25 00 2 1.6 0.0 0.0 00 00 o 0.0 0.0 0 2 0 30
. 041610
40 IEE2" 41430 . ] . 1
NERSH AT - KEW A K@ - A 58 58 58 11.0/ 85 6 0. 0.0 25 00 2 3.2 0.0 00 00 00 O 0.0 1.3 1 16 0 30 041620
. 041620
40 EN-EX 41440 T - ] - = #
&S 8 RE - BREE 5 FmaE - RE 5 7.3 1.3 1.2 12,2 1.5 6. 0. 0.0 30 00 2 1.4 0.0 00 00 02 o 0.0 55 1 5 0 60 | Q41630
. . 041630
40 IESE2" 41450 .= % —EES 48
NERSH fhhr - ERIT BEES 45 7.3 1.3 1.3 9.3 6.8 5 0. 0.0 25 00 2 1.3 00 00 00 00 O 0.0 24 0 11 0 60 041640
40 IES:-£4 41460 AR 21 BORAEIE®RA 041650
&S 8 ARS8 BROEREITE 0.5 0.5 0.5 120 7.0 6. 0. 0.0 25 00 2 0.5 0.0 00 00 05 O 0.0 0.0 0 3 0 60
.l 41.5 38.5/ 38.1 208 9.6 00 00 31 0. 0.0 27.4 4 85 1
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(km) (km) | (km) (m) (m) (m) (m) (m) (m) (m) km) | km) | Ckm) | (km) | (km) | (km) | (km) | (km) (km/h)
A HILERR C41470 —HEE2618 SRILER 0.3 0.3 0.3 8.8 6.5 6. 0. 0.0 2.3 0.0 2 0.3 0.3 0.0 0.0 0.0 0. 0.0 0. 1 2 0 40 041660
4 BT EHR 041480 SRILER SRILER 0.2 0.2 0.2/ 16.0 9.0 6. 0. 1.5 3.5 0.0 2 0.2 0.2 0.0 0.0 0.2 0. 0.0 0. 0 2 0 40 041660
A HIL RS 041490 SRILER EHBIRE 3.0 3.0 3.0 9.3 6.8 6. 0. 0.0 2.5 0.0 2 1.7 1.1 0.0 0.0 0.3 0. 0.0 2. 0 15 1 50 041670
4 BT EHR 041500 EHELRR EHELER 6.2 5.4 3.6 7.0 7.0 6. 0. 0.0 1.2 0.0 2 0.6 0.0 0.0 0.0 0.0 0. 0.0 6. 0 1 0 60 041680
A HILEHR C41910 EHBTRE BilnR 1.2 1.2 1.2 7.0 7.0 5. 0. 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 2 0 60 041695
4 BT EHR el L BILIES ~5—# 0.4 0.4 0.4 9.3 6.8 5. 0. 0.0 2.5 0.0 2 0.3 0.0 0.0 0.0 0.0 0. 0.0 0. 0 2 0 60 041695
A HILERR 041930 BILRA ¥ 5 —8] LR - REW 1.2 1.2 0.8 5.0 5.0 4. 0. 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 2 0 60 041700
4 BT EHR 041540 LA - RET R EFERT# 4.6 4.6 3.8 1.5 1.5 5. 0. 0.0 2.5 0.0 2 0.5 0.5 0.0 0.0 0.0 0. 0.0 3. 0 8 0 60 83};?8
A HILERR C41950 A ERTR RENET SR 3.1 3.1 3.1 8.5 8.5 6. 0. 0.0 3.5 0.0 2 0.9 0.9 0.0 0.0 0.1 0. 0.0 3. 1 7 0 60 adirio
4 BT SRR 041560 AE\EFTER —HEE186% 3.6 3.6 3.6 9.0 6.8 5. 0. 0.0 2.2 0.0 2 3.6 1.2 0.0 0.0 0.0 0. 0.0 3. 2 15 0 50 041720
A HOL SR C41570 EHELER Bl 0.8 0.1 0.1 4.5 4.5 3. 0. 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 3 0 60 041730
L 24.6) 23.1) 20.1 8.1 4.2 0.0 0.0 0.6 0. 0.0 20. 4 69 1
42 HHELRH C41980 —HEE187% SHAT - AT K 16.4 11.5 11.5 7.0 7.0 5. 0. 0.0 3.6 0.0 2 1.4 0.9 0.0 0.0 0.5 0. 0.0 9. 2 16 0 60 041740
42 SHER® 041590 SHET - @ET EREEH 15.0 6.9 6.0 8.0 8.0 6. 0. 0.0 2.5 0.0 2 0.5 0.0 0.0 0.0 0.0 0. 0.0 0. 0 7 0 30 041750
42 HHELRR 041600 EREER —HEE4885 1.9 1.9 1.9 9.0 6.8 5. 0. 0.0 2.2 0.0 2 1.5 0.0 0.0 0.0 0.2 0. 0.0 0. 1 8 0 30 041760
B 33.3/ 20.3 19.4 3.4 0.9 0.0 0.0 0.7 0. 0.0 9. 3 31 0
43 PRI 2278 43 C4T6T0 BROERF 2R BRI 4.6 4.6 3.9 14.0 7.0 6. 0. 0.0 3.5 0.0 2 4.0 2.9 0.0 0.0 1.8 1. 0.0 2. 0 16 0 60 aairro
43 FRug =72 4R el ERBE IR —HEE485% 1.1 1.1 1.1 8.5 7.0 6. 0. 0.0 1.5 0.0 2 1.0 0.0 0.0 0.0 0.0 0. 0.0 1. 0 2 0 40 041780
&t 5.7 5.7 5.0 5.0 2.9 0.0 0.0 1.8 1. 0.0 4. 0 18 0
44 BT B 041630 PR 22 78 43 PHEFER 9.8 9.8 9.8 8.3 6.8 5. 0. 0.0 1.5 0.0 2 4.0 1.6 0.0 0.0 0.0 0. 0.0 9. 0 13 0 60 041790
4 BRI AR 041640 PHAFES RO BETRE - L7 % 14.7 11.3 5.3 5.0 5.0 4. 0. 0.0 3.5 0.0 1 2.0 2.0 0.0 0.0 0.2 0. 0.0 12 0 17 0 40 82}3?8
44 BT B 041650 Wiz O METRLE - 75 5% —HEE485% 9.4 9.2 8.3 9.5 7.0 5. 0. 0.0 3.5 0.0 2 4.0 4.0 0.0 0.0 0.3 0. 0.0 5. 0 21 0 60 041820
B 33.9/ 30.3 23.4 10.0 7.6 0.0 0.0 0.5 0. 0.0 27. 0 51 0
45 KRR 041660 —HEEOS RREAEER 1.2 1.2 1.2 13.0 9.0 7. 0. 0.0 2.0 0.0 2 1.2 1.2 0.0 0.0 1.2 1. 0.0 1. 5 5 0 40 041830
4 REARE C41670 RERRR IR 4.7 4.7 4.7 10.0 1.5 6. 0. 0.0 2.5 0.0 2 4.7 1.7 0.0 0.0 0.8 0. 0.0 4. 2 7 0 50 041840
45 KRR 041680 IR B —HEE432% 3.4 3.4 3.4 11.5 7.0 6. 0. 0.0 2.5 0.0 2 3.4 3.4 0.0 0.0 0.8 0. 0.0 1. 6 10 0 50 041850
4 REARE 041690 RERRR RERRE 1.8 1.8 1.8/ 16.0 8.0 6. 0. 0.0 4.0 0.0 2 1.8 1.8 0.0 0.0 1.8 1. 0.0 0. 5 8 0 60 041860
45 RRRRER 041700 —HREE432% RRRRR 0.8 0.8 0.8/ 12.4 8.5 6. 0. 0.0 2.2 0.0 2 0.7 0.7 0.0 0.0 0.0 0. 0.0 0. 1 2 0 50 a41870
4 REARE CATTT0 RERRB Rk - BEW 15.7 15.7 15.7 7.0 7.0 5. 0. 0.0 1.0 0.0 2 1.8 0.6 0.0 0.0 0.0 0. 0.0 14 0 22 0 50 041870
45 RRRRER et R - ERT R RRARE 18.7 16.7 16.1 10.0 7.5 6. 0. 0.0 2.5 0.0 2 11.6 9.8 0.0 0.0 1.2 0. 0.0 8. 3 27 1 40 Ogl?gg;
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(km) (km) | (km) (m) (m) (m) (m) (m) (m) (m) km) | km) | Ckm) | (km) | (km) | (km) | (km) | (km) (km/h)
e ERARER C41730 RRARE —RE#5 4% 2.0 2.0 2.0 9. 6.6 5.5 0. 0.0 2. 0.0 2 2.0 2.0 0.0 0.0 0.0 0. 0.0 2. 6 3 0 40 83}3;8
o RRARK® CA1740 BRARA —HRENOS 0.7 0.7 0.7 9. 9.0 5.5 0. 2.5 4. 0.0 2 0.2 0.2 0.0 0.0 0.2 0. 0.0 0. 1 6 0 60 83}322
i 49.0/ 47.0 46.4 27.4  21.4 0.0 0.0 6.0 4. 0.0 35 29 90 1
46 KRERIR C41750 —HRE3755 CRANR 8.8 8.8 8.5 12 8.5 6.5 0. 0.0 3. 0.0 2 8.6 7.8 0.0 0.0 0.2 0. 0.0 8. 1 26 0 40 83}328
46 REBILTE C41760 CRERRE BEFEELR 0.7 0.7 0.7 5. 5.4 4.0 0. 0.0 2. 0.0 1 0.1 0.1 0.0 0.0 0.1 0. 0.0 0. 1 3 0 40 041960
46 KRERIR cA1770 AEFRBELR RET - JIAAT 9.0 7.1 3.2 6. 6.5 5.5 0. 0.0 2. 0.0 2 1.2 0.0 0.0 0.0 0.0 0. 0.0 5. 0 13 0 40 041960
46 REBITER C41780 RE - JIAE 5 RRBNFH 3.3 0.2 0.2 3. 3.5 2.5 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 10 0 60 83}3?8
46 RERIR C41790 RRRNIFR NIAHT - ST 4.3 0.4 0.4 3. 3.0 2.5 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 8 0 30 041980
46 REBILER 041800 JIKED - LR 8 —REE261% 6.3 2.1 1.9 8. 8.0 6.0 0. 0.0 2. 0.0 2 1.4 0.0 0.0 0.0 0.0 0. 0.0 4. 0 8 0 30 041980
o 32.4) 19.3 14.9 11.3 7.9 0.0 0.0 0.3 0. 0.0 19. 2 68 0
4 TR cA1810 —REEA855 AriEMRE IR L R 4.1 4.1 4.1 12 9.0 6.0 0. 0.0 1. 0.0 2 3.7 1.7 0.0 0.0 2.0 1. 0.0 4. 4 16 0 60 041990
4 mRnER 041820 ArEGRERS LS —HEN4855 15.2 8.7 6.3 8. 8.0 6.0 0. 0.0 2. 0.0 2 1.8 0.5 0.0 0.0 0.1 0. 0.0 15. 0 14 0 60 042000
i 19.3 12.8 10.4 5.5 2.2 0.0 0.0 2.1 1. 0.0 19. 4 30 0
48 SR 041830 —REESS RET - HAT A 12.5/ 11.8 10.9| 10. 1.5 6.0 0. 0.0 2. 0.0 2 5.2 1.5 0.0 0.0 1.2 1. 0.0 9. 3 15 0 60 8328;8
48 SRR 041840 REM - EET RERDH 5.9 2.1 2.1 6. 6.5 5.5 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 7 0 30 042030
o 18.4/ 13.9 13.0 5.2 1.5 0.0 0.0 1.2 1. 0.0 9. 3 22 0
49 LR/ 041850 —HREEA325 HITE 2 2 R 4.9 1.9 0.3 5. 5.0 4.0 0. 0.0 2. 0.0 1 0.3 0.0 0.0 0.0 0.0 0. 0.0 0. 1 21 0 60 042040
49 EEFANR 041860 Tt 22 EHA BTFHEEM 0.1 0.1 0.0 5. 5.0 4.0 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 1 0 60 042040
49 LRI CA1870 BT R BATAREH 1.9 0.0 0.0 1. 1.5 0.5 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 1 0 60 042050
49 EEFANR 041880 BT BARBEHERE - SIER B 0.7 0.0 0.0 4. 4.0 3.0 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 2 0 60 042050
49 LR/ CHBI0 | RERMRHNAE - i 20 EREELR 2.2 0.8 0.0 5. 5.0 4.0 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 5 0 60 042060
49 EEFANR 041900 ERSELR —HEN3 145 5.7 5.7 5.7 9. 7.0 5.5 0. 0.0 2. 0.0 2 2.1 0.7 0.0 0.0 0.0 0. 0.0 5. 0 8 0 60 042070
i 15.5 8.5 6.0 3.0 0.7 0.0 0.0 0.0 0. 0.0 5. 1 38 0
%0 E R c41910 —HRE2615 RE BN 10. 6 8.9 5.5 7. 7.0 5.5 0. 0.0 2. 0.0 2 1.6 1.6 0.0 0.0 0.1 0. 0.0 10. 1 23 0 60 042080
%0 PR 041920 AE/\EFHER AEEAR 2.1 1.9 0.9 6. 6.5 5.5 0. 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 2 0 60 042090
%0 E R 041930 REFXR BIaRR 10. 6 5.7 3.9 10. 1.5 6.0 0. 0.0 2. 0.0 2 3.2 2.4 0.0 0.0 0.1 0. 0.0 2. 0 25 0 60 042100
%0 AT 041940 BIT R REW - IRT % 2.7 0.6 0.0 4. 4.0 3.0 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 6 0 60 042110
%0 H R 041950 REI - LR BT R 4.4 2.9 2.7 9. 6.8 5.5 0. 0.0 2. 0.0 2 2.4 0.0 0.0 0.0 0.1 0. 0.0 0. 0 9 0 60 a42110
%0 AT 041960 WS F AR TR - RE® # 0.4 0.3 0.0 6. 6.3 4.2 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0. 0 2 0 30 042120
50 H R c41970 ik - REW M TRTAR 1.4 1.4 1.4/ 10. 7.5 6.0 0. 0.0 2. 0.0 2 1.4 1.0 0.0 0.0 0.1 0. 0.0 1. 1 2 0 30 042130
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(km) (km) | (km) (m) (m) (m) (m) (m) (m) (m) km) | km) | Ckm) | (km) | (km) | (km) | (km) | (km) (km/h)
%0 AT 042000 TRTRR REW - IRT % 0.4 0.4 0.4 10. 1.5 6. 0. 0.0 2. 0.0 2 0.4 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 2 0 50 042160
50 E R 042010 REW - TAT R Ik - REW 0.2 0.2 0.2 10. 1.5 6. 0. 0.0 2. 0.0 2 0.2 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 1 0 50 042160
%0 AT 042020 L BTRF AR 0.0 0.0 0.0 13 10.5 9. 0. 0.0 2. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 1 0 50 042180
%0 E R 042030 BmE AN BT RLIA 0.4 0.4 0.4 8. 8.0 6. 0. 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 2 0 40 042180
%0 AT 063190 R T RS PR 0.3 0.3 0.3 7. 1.5 6. 0. 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 2 0 60 063300
%0 E R 041980 TRILRR EBRTREAR 2.2 2.2 2.2 7. 1.5 6. 0. 0.0 3. 0.0 2 0.1 0.1 0.0 0.0 0.0 0. 0.0 2.2 0 6 0 50 042140
%0 AT 041990 EERT RS —REEeS 6.1 6.0 5.5 10. 1.5 6. 0. 0.0 2. 0.0 2 5.2 5.2 0.0 0.0 0.6 0. 0.0 6.1 1 22 1 50 042150
o 41.8) 31.2 23.4 14.5 10.3 0.0 0.0 1.0 0. 0.0 23.8 3 105 1
o HERLRR 042040 —REET1 845 LU L 6.7 6.5 6.2 8. 6.8 5. 0. 0.0 2. 0.0 2 6.3 3.8 0.0 0.0 0.3 0. 0.0 6.7 4 19 0 50 82%?8
o HMERHEM 042050 B - FAT A —RENS 4% 5.7 3.9 3.9 11, 1.5 6. 0. 0.0 3. 0.0 2 3.3 2.1 0.0 0.0 0.0 0. 0.0 3.4 0 7 0 60 042220
o HERLRR 042060 —REES 45 HERR®R 2.8 0.9 0.8 6. 6.5 5. 0. 0.0 3. 0.0 2 0.1 0.0 0.0 0.0 0.0 0. 0.0 0.0 1 2 0 60 042230
o HERHEM 042070 kit BaxNa 0.2 0.2 0.2 7. 1.5 5. 0. 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.2 0 1 0 60 042230
o HERLRR 042080 BEXRH BATARERH 5.5 4.0 3.9 7. 1.5 6. 0. 0.0 2. 0.0 2 1.8 0.7 0.0 0.0 0.0 0. 0.0 3.7 0 12 0 40 042230
o HMERHEM 042090 BT BTFHEEM 0.8 0.0 0.0 2. 2.0 1. 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 0 0 60 042240
o HERLRR 042100 BT AR —REE3 145 0.9 0.1 0.1 4. 4.2 3. 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 0 0 60 042240
o HERHEM 042110 —HRE3 145 A - RAEAT B 2.2 0.4 0.4 4. 4.0 3. 0. 0.0 3. 0.0 1 0.3 0.3 0.0 0.0 0.0 0. 0.0 0.0 1 0 0 60 042250
o HERLRR 042120 Emm - RUEA & —HREE4325 5.4 4.4 2.7 7. 7.0 5. 0. 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 6 0 60 042250
g 30.2) 20.4 18.2 11.8 6.9 0.0 0.0 0.3 0. 0.0 14.0 6 47 0
%2 HRIBA > 5~ 042130 REXHER —HREE186% 13.9 12.2 8.7 10. 1.5 6. 0. 0.0 2. 0.0 2 5.2 4.7 0.0 0.0 0.1 0. 0.0 5.6 0 34 0 60 82%?8
52 WREA 5 042140 —HRE1865 A 4.7 4.7 4.7 10. 8.0 6. 0. 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 4.7 0 9 0 60 042280
%2 BRIBA > 5~ 042150 TR TOMER LR 2.9 1.7 1.0 5. 5.0 4. 0. 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 5 0 60 042280
52 WREA 5 042160 TOMBE LR RENEAER 6.7 0.8 0.0 4. 4.0 2. 0. 0.0 2. 0.0 1 0.1 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 6 0 60 83%38
%2 BRIBA > 5~ 042170 AE/\EFHER REAMEE 0.5 0.5 0.5 10. 8.4 6. 0. 0.0 2. 0.0 2 0.4 0.4 0.0 0.0 0.1 0. 0.0 0.4 1 2 0 60 042310
i 28.7/ 19.9 14.9 5.7 5.1 0.0 0.0 0.2 0. 0.0 10.7 1 56 0
%3 ARRHER 042180 WIAKR BRI - I % 4.4 3.4 3.4 9. 6.8 5. 0. 0.0 2. 0.0 2 1.9 0.0 0.0 0.0 0.1 0. 0.0 3.7 2 5 0 50 82%%8
53 ARRHER 042190 B - I NEEHL/\ER 7.9 6.3 6.3 7. 1.5 5. 0. 0.0 2. 0.0 2 3.2 2.0 0.0 0.0 0.2 0. 0.0 7.9 0 17 0 40 042340
%3 ARRHER 042200 NBIEFHIL\BR —REE4325 2.4 2.4 2.4 8. 6.8 5. 0. 0.0 1. 0.0 2 2.4 2.4 0.0 0.0 0.5 0. 0.0 2.4 2 7 0 40 042350
53 ARRHEAR 042210 —HEN4325 JAHT - RHMEAT 2 1.3 1.3 1.3 8. 6.8 5. 0. 0.0 2. 0.0 2 1.3 0.0 0.0 0.0 0.1 0. 0.0 1.3 0 3 0 40 042350
%3 ARRUEER 042220 ARG - FURAT 5% HHBATRE - RS 5% 2.4 2.4 2.4 8. 6.5 5. 0. 0.0 2. 0.0 2 2.3 0.0 0.0 0.0 0.1 0. 0.0 1.7 0 13 0 50 042360
53 ARRHZAR 042230 HUBMER - 2 —REEOS (NTEER - £#) 0.6 0.6 0.6 10. 8.5 6. 0. 0.0 2. 0.0 2 0.6 0.1 0.0 0.0 0.1 0. 0.0 0.0 1 1 0 50 042360
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54 B3 114 42250 M8 =84 —EE1918 042390
#RENE #RA=AE REE = 1.5 1.5 1.5 120 7. 6. 0. 0.0 25 00 2 0.9 09 00 00 08 o 0.0 1.5 2 13 0 40
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BEHFH R EmR Bl - ST 28 28 28 81 8 6. 0. 0.0 00 00 2 0.0 00 00 00 00 o 0.0 26 0 6 0 60
55 g 42290 = FAT - 15 —fBEE37 58 42420
L B - i3 m BEE3 7S5 9.9 55 55 70 7. 5. 0. 0.0 20 00 2 0.3 03 00 00 00 o 0.0 52 0 13 0 60
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56 42340 CHET 8B —feEE1848 42450
XBEDRR KB - HE&W W BEE1845 37 01 00 35 3 2. 0. 0.0 00 00 1 0.0 00 00 00 00 o 0.0 00 0 2 0 60
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107 1A 60090 3 HE & EMELDESE
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o 7.5 53 4.9 21 01 00 00 02 01 00 33 1 20 0
108 % R = 60100 EMELDESE % 60120
THAHZSR IR & OIE RE BRI 7.2 1.2 1.2 1.0 7. 6.0 0.0 00 3 0.0 2 43 29 00 00 01 00 00 70 0 20 0 60 0
o 7.2 1.2 1.2 43 29 00 00 01 00 00 70 0 20 0
109 Y=t 60110 HHEMHEH B2 pEsS 60130
BEEH = H B R BRI ORE 8.6 00 00 40 4 3.0 00 00 O 0.0 1 00 00 00 00 00 00 00 20 0 4 0 40 0
o 8.6 00 0.0 000 00 00 00 00 00 00 20 0 4 0
110 B B 60120 EipEE LY B EpES 60140
RUBREHR EREELR BRI ORE 8.2 1.3 0.9 65 4 3.0 00 00 2 0.0 1 01 00 00 00 00 00 00 02 0 10 0 60 0
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1 SRS 060210 BRI 5 -8 BRI & OWES 0.5 0.0 0.0 3.0 3.0 2.0 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0 60 060240
i 8.1 3.3 3.0 1.6 0.0 0.0 0.0 0.0 0.0 0.0 4.5 1 26 0
15 HEZAH 060220 Bl Bl 2.1 2.1 2.1 7.8 7.8 5.5 0.0 0.0 2.0 0.0 2 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 10 0 60 060250
115 REZALHR 060230 RE=LR RE=LR 0.3 0.3 0.3 7.0 6.5 5.5 0.0 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0 60 060260
15 HEZAH 060240 Bl Bl 9.2 2.2 1.1 3.7 3.7 2.7 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 4 0 60 828%8
i 11.6 4.6 3.5 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 14 0
120 RNENH 060250 ek & ORE ARAmH 1.2 0.0 0.0 3.5 3.5 2.5 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 0 4 0 30 060290
i 1.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 0 4 0
123 HALD® 060260 R R ek & ORE 4.9 0.8 0.6 4.2 4.2 3.0 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 O 2 0 40 060300
i 4.9 0.8 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 O 2 0
124 AR AL 060270 —REEeS AR IR 15.3 6.5 3.0 5.0 5.0 4.0 0.0 0.0 3.0 0.0 1 0.1 0.0 0.0 0.1 0.0 0.0 0.0 7.6 0 13 0 30 060310
124 RANAER 060280 RAFETINR WER & ORA 2.8 1.7 0.2 5.0 5.0 4.0 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 0 8 0 30 060320
a 18.1 8.2 3.2 0.1 0.0 0.0 0.1 0.0 0.0 0.0 10.4 0 21 0
192 HIItRER 060290 —HEN4315 WITER=FRER 1.7 1.7 1.7, 11.0 7.5 6.0 0.0 0.0 3.5 0.0 2 1.7 1.1 0.0 0.0 0.1 0.0 0.0 1.7 1 2 0 50 060330
i 1.7 1.7 1.7 1.7 1.1 0.0 0.0 0.1 0.0 0.0 1.7 1 2 0
193 RUERRER 060300 —HENSS ST - 0T 2 1.2 1.2 1.2 18.0 9.0 8.0 0.0 0.0 4.5 0.0 2 1.2 0.8 0.0 0.0 1.2 0.8 0.0 0.1 3 7 0 40 060340
193 HUBRRER 060310 HHBAT - YT 5 RRER 1.6 1.6 1.6/ 14.8 14.8 13.8 0.0 0.0 2.0 0.0 2 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 5 0 40 060350
193 RUERRER 060320 BROERZ RiRER 0.8 0.8 0.7 6.8 6.8 5.5 0.0 0.0 2.3 0.0 2 0.1 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0 4 0 40 060360
al 3.6 3.6 3.5 1.7 0.8 0.0 0.0 1.3 0.8 0.0 0.1 4 16 0
196 REMBR 060330 RRRRA EREELA 2.0 0.8 0.3 5.0 5.0 4.0 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 3 1 60 060370
196 ARBER 060340 EREELR —REE432% 6.4 4.9 2.6 6.0 6.0 4.0 0.0 0.0 3.5 0.0 1 0.1 0.0 0.0 0.0 0.1 0.0 0.0 0.0 O 11 0 60 060380
196 AEBBR 060350 —HEN4325 —HEN3 145 4.7 0.0 0.0 4.4 4.4 3.4 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 5 1 60 060390
i 13.1 5.7 2.9 0.1 0.0 0.0 0.0 0.1 0.0 0.0 0.0 O 19 2
197 HEXHHR 060360 E=nEs HEm - RN R 0.1 0.1 0.1 6.0 6.0 5.5 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 1 0 60 060395
1o7 HEARR 060370 ey - ST i - W A 1.0 1.0 1.0 7.0 7.0 5.5 0.0 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 2 0 60 828288
197 HEXHH 060380 WEm - ZHm MR ERSELA 8.8 8.8 8.8 9.5 6.5 5.5 0.0 0.0 2.5 0.0 2 4.4 3.8 0.0 0.0 0.0 0.0 0.0 2.2 4 16 0 60 Oggggg;
al 9.9 9.9 9.9 4.4 3.8 0.0 0.0 0.0 0.0 0.0 2.2 4 19 0
199 HEFER 060390 —HEN1845 MRS 8.8 4.0 2.3 3.6 3.6 2.6 0.0 0.0 3.5 0.0 1 1.9 1.2 0.0 0.0 0.4 0.4 0.0 1.3 6 23 1 30 Qgggzg;
a 8.8 4.0 2.3 1.9 1.2 0.0 0.0 0.4 0.4 0.0 1.3 6 23 1
161 HEXHR 060400 L —EXHR SelllEr - B A 9.0 9.0 9.0 11.0 8.0 6.5 0.0 0.0 3.0 0.0 2 9.0 9.0 0.0 0.0 0.7 0.6 0.0 0.0/ 12 19 0 50 060460
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- 060480
161 £ )IIHHE A 60410 EIET - HEH 1B t 37 A B &
RINHBALR BIEY - R 5 AHIABR 7.9 7.9 7.9 11.5 80 65 00 00 3 0.0 2 79 7.9 00 00 1.7 1.7 00 25 11 25 1 50 060490
. 060495
161 E It E A4 60420 A EE —EEE4 318
RHEXLR RHLARE HEE = 1.7 1.7 1.2 10.3 6.8 55 00 00 3 0.0 2 0.6 0.6 00 00 02 01 00 1.7 7 5 0 40 060500
G 18.6 18.6 18.1 17.5 17.5/ 0.0, 0.0 2.6 2.4 00 42 30 49 1
162 ITAES 60430 I Nsss =Y 060510
AHLABR ENHEXLR HEELR 38 38 38 103 7.1/ 55 00 00 3 0.0 2 30 30 00 00 03 01 00 34 7 10 0 40
162 it 37 A F & 60440 B 4 —EEE oS 060520
AHIARR SRR BEREoS 1.2 1.1 05 50 50 40 00 00 2 0.0 1 0.4 04 00 00 00 00 00 00 1 5 0 40
. . 060530
162 A EE 60450 —BEEIE —EEE1848
AHLABR REE S BEE1845 9.5 24 22 30 30 20 00 00 2 0.0 1 16 00 00 00 03 00 00 00 3 21 1 40 | 060540
e 145 7.3 6.5 50 3.4 00 00 06 01 00 34 1 36 1
166 60460 —EEE37 52 BIEDE A 60550
SBER BENE3 7S5 SRR 6.5 65 65 90 68 55 00 00 2 0.0 2 3.6 26 00 00 00 00 00 56 1 8 0 50 0
166 4 60470 i IR E A i IS E A 060550
el RIS RIS 0.4 04 04 100 7.5 60 00 00 2 0.0 2 0.4 04 00 00 00 00 00 04 0 0 0 50
166 60480 HBIASE & . # 060550
SERR SRR SeighT - ShRIAT A 55 55 55 100 7.5 6.0 00 00 2 0.0 2 3.3 01 00 00 01 00 00 23 0 3 0 50
166 # 60490 ERET - 15 2 4 060550
el AT - WEAT A BRERER 20 20 20 7.2 1.2 57 00 00 O 0.0 2 00 00 00 00 00 00 00 07 0 3 0 50
o 14.4 14.4 14.4 73 31 00 00 01 00 00 90 1 14 0
. . I 060560
170 EpEF T 60500 —fEEE19 18 B B
HE R R BEE = HHFTHR 10.7| 5.7 2.3 40 40 30 00 00 2 0.0 1 0.9 00 00 00 03 00 00 36 0 8 0 30 | 060570
170 EANE 60510 i CEMBE 15 060580
& B AR & B WA - KA N 6.2 43 43 7.0 7.0 55 00 00 O 0.0 2 000 00 00 00 00 00 00 45 0 4 0 40
170 EpEF T 60520 M - RMBE 1 —EEE oS 060580
HERAHR HE - RAMBA R BEEoS 20 00 00 40 40 27 00 00 1. 0.0 1 0.1 00 00 00 00 00 00 00 0 1 0 40
o 18.9 10.0/ 6.6 1.0 00 00 00 03 00 00 81 0 13 0
17 HiE =84 60540 )4 —fEEE19 18 060600
HEAZRR RIS BEE = 0.5 05 05 120 7.0 60 00 00 2 0.0 2 05 05 00 00 05 05 00 00 1 4 0 30
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HRA=AR HEE = wRA=RR 1.1, 1.1 1.1 145 1.5 6.0 00 00 3. 0.0 2 1.1 1.1, 00 00 1.1 1.1 00 01 1 2 0 40
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17 miE =84 60550 —fEEE19 18 T §5 F 15 B 5
HEAZRR BEE = FHATFEEAR 9.7 9.7 97 1.0 70 55 00 00 2 0.0 2 3.3 25 00 00 00 00 00 90 0 18 0 60 60620
171 = 60560 % b 5% T S B 15 48 ] 060630
SRA=AR SHEHRFRERAR wEAW - RAW A 1.7 0.6 0.4 40 40 30 00 00 O 0.0 1 000 00 00 00 00 00 00 05 0 2 0 30
171 miE =84 60570 | - EET B —EEE oS 060630
HRAZRR HE - ORET 5 BEEoS 30 02 0.1 40 40 30 00 00 O 0.0 1 000 00 00 00 00 00 00 20 0 2 0 30
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c 1.2 1.0 0.0 0.4 00 00 00 00 00 00 12 0 2 1
226 B EE IR 61500 S s FEF IS EEAT - EHBAT B 61550
HARHDHRAR HER AR =T - AT 2 47 26 25 70 10 55 00 00 O 0.0 2 00 00 00 00 00 00 00 00 0 1 0 0
226 B EE Y 61510 EWAT - EMBAT B —BEE oS 61550
WARNSEEAR = HAT - RAHAT 5 BEEoS 72 38 1.4 80 80 60 00 00 O 0.0 2 0.0 00 00 00 00 00 00 00 0 5 0 0
226 EHE SR 61520 HOEIE EoREEITES 61560
HARHDHRAR RRAIR BROER S 02 02 02 11.4 7.3 60 00 00 1 0.0 2 0.2 00 00 00 02 00 00 02 0 3 0 0
226 BB EE Y 61530 —BEES ELlL 61570
WARNHEEAR BEEoS HRAE R 22 22 22 90 90 60 00 00 O 0.0 2 0.0 00 00 00 00 00 00 00 0 4 0 60
o 14.3 88 6.3 0.2 00 00 00 02 00 00 02 0 13 0
221 SILALHEBREES €61540 BOBRE TR A AT % 61580
HITLA LHERFERR BROEREIGE RITERRREAR 1.0 1.0 0.8 145 100 90 00 00 2 0.0 2 0.8 07 00 00 06 05 00 10 4 6 0 0
o 1.0 10 0.8 0.8 07 00 00 06 05 00 10 4 6 0
228 T HEES C61550 —BEE 4318 INGE 61590
TEFEAR BEE = hMERER 03 03 03 122 92 62 00 15 1 0.0 2 0.3 00 00 00 03 00 00 O 1 4 0 0
o 0.3 03 03 0.3 00 00 00 03 00 00 O 1 4 0
229 ki 61560 EoRAEIERA ey 61600
RRER BROEREIXE RIFBRRE 05 05 04 120 70 60 00 00 2 0.0 2 0.3 03 00 00 02 02 00 o0 1 3 0 0
229 e 3 C61570 2 4 /%S g —BEE S 61600
RRER RABDZRE REE oS 01 01 01 203 130 120 00 00 2 0.0 2 01 01 00 00 01 00 00 O 1 1 0 0
& 0.6 06 05 0.4 04 00 00 03 02 00 06 2 4 0
230 i 61580 s —BEE oS 061610
REER RUERBER BEE oS 16 1.6 1.6 1.2 66 56 00 00 2 0.0 2 1.4 09 00 00 04 00 00 1.1 2 7 0 40
& 1.6 1.6 16 1.4 09 00 00 04 00 00 1.1 2 7 0
232 g 61590 BoRAEITEA 1= % 61620
hFRER BROBRE L —EXHR 05 02 00 50 50 40 00 00 O 0.0 1 00 00 00 00 00 00 00 00 0 2 0 0
232 INFE B C61600 2 )1 — H A4 o e 061630
hMpRER BN AR Lk 50 50 50 100 75 60 00 00 2 0.0 2 50 50 00 00 16 14 00 43 5 17 0 40
- . . 061630~
232 INGE 61610 o = e —fEEE4 318
hMFRER bl 4 HEE = 0.8 0.8 0.8 160 90 60 00 15 3. 0.0 2 0.8 0.8 0.0 00 08 08 00 O 4 5 0 40 061650
G 6.3 60 58 58 58 00 00 24 22 00 51 9 24 0
233 1 61620 BORAEITEA ; ZEI5 061660
AFER BROERS G BEAFHEER 01 01 00 65 65 55 00 00 O 0.0 2 0.0 00 00 00 00 00 00 00 0 2 0 40
G 0.1 01 00 0.0 00 00 00 00 00 00 00 0 2 0
234 TS 61630 BORAEITEEA —BEE S 61670
TEER BROERS [T REE S 008 03 02 44 44 24 00 00 1 0.0 1 0.2 00 00 00 00 00 00 00 0 3 1 30
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(km) (km) | (km) (m) (m) (m) (m) (m) (m) (m) km) | km) | Ckm) | (km) | (km) | (km) | (km) | (km) (km/h)
al 0.8 0.3 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 3 1
235 CrER 061640 BROER SRR —HRENOS 0.4 0.4 0.4 12.0 9. 6.0 0.0 1.5 1.5 0.0 2 0.4 0.0 0.0 0.0 0.4 0.0 0.0 0.4 1 3 0 40 061680
al 0.4 0.4 0.4 0.4 0.0 0.0 0.0 0.4 0.0 0.0 0.4 1 3 0
236 RRBER 061650 BROER SRR BREFRSR 0.5 0.4 0.0 1.2 7. 5.2 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 0 4 0 30 061690
al 0.5 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 0 4 0
237 RUER 061660 BROER SRR RIFRAR 0.5 0.2 0.1 4.3 4. 3.3 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 5 0 30 061700
a 0.5 0.2 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 5 0
238 TRER 061670 BROER SRR —HENOS 1.2 1.2 1.2 7.9 6. 5.5 0.0 0.0 4.7 0.0 2 0.6 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0 7 0 30 061710
238 TRER 061680 BROEREIIEHM &E8) 0.2 0.2 0.2/ 13.0 6. 4.0 0.0 1.5 2.5 0.0 1 0.2 0.2 0.0 0.2 0.2 0.0 0.0 0.0 0 3 0 30 061720
i 1.4 1.4 1.4 0.8 0.5 0.0 0.2 0.2 0.0 0.0 0.0 0 10 0
239 bt 061690 BROEREIEHM —REEeS 1.0 0.0 0.0 4.9 4. 3.4 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 5 0 30 061730
i 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 5 0
240 RERER 061700 BROERZIEHM —REEeS 0.2 0.2 0.0 8.8 8. 5.5 0.0 1.7 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 2 0 40 061740
i 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 2 0
241 REEER o61710 BROEREIIEH EREFEAR 1.1 1.1 0.3 7.0 1. 4.8 0.0 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 1 4 0 30 gg};gg
241 REEER 061720 EREFRESR —HENSS 3.1 3.1 2.7 11.5 8. 5.8 0.0 0.0 3.5 0.0 2 1.7 1.7 0.0 0.0 0.0 0.0 0.0 3.1 3 5 0 40 061770
241 REEER 061730 AHEER —REEeS 0.6 0.6 0.6 9.7 8. 6.7 0.0 0.0 1.5 0.0 2 0.6 0.0 0.0 0.0 0.2 0.0 0.0 0.0 1 2 0 40 061780
i 4.8 4.8 3.6 2.3 1.7 0.0 0.0 0.2 0.0 0.0 4.2 5 11 0
242 HEER 061740 BROEREIEH M —REE191% 1.8 1.8 1.7/ 18.0 9. 6.0 0.0 0.0 4.5 0.0 2 1.2 1.0 0.0 0.0 0.8 0.8 0.0 1.6 2 10 0 40 gg};gg
i 1.8 1.8 1.7 1.2 1.0 0.0 0.0 0.8 0.8 0.0 1.6 2 10 0
243 HBEER 061750 BROEREIEHM FHERSR 2.9 2.9 2.9 1.7 11 6.5 0.0 0.0 4.0 0.0 2 2.9 2.2 0.0 0.0 2.9 0.1 0.0 2.9 3 21 0 40 Ogé?;g;
243 HERER 061760 FRERR —HENSS 1.1 1.1 1.1 10.9 6. 5.5 0.0 0.0 2.2 0.0 2 1.1 0.1 0.0 0.0 1.1 0.1 0.0 1.1 1 8 0 40 061840
al 4.0 4.0 4.0 4.0 2.3 0.0 0.0 4.0 0.2 0.0 4.0 4 29 0
245 AR o61770 BROERS [ RREAAMR 3.8 2.6 2.5 6.5 6. 5.5 0.0 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 2 1 0 40 061850
i 3.8 2.6 2.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 2 11 0
246 NEEHHR 061780 NEEHIITRSR —REEOS (RTHE - fH) 1.9 1.6 1.4/ 12.0 7. 6.0 0.0 0.0 2.5 0.0 2 1.5 0.0 0.0 0.0 0.8 0.0 0.0 1.9 3 7 0 40 061860
246 NEERILE ELN —REE oS (RAITER - fIiE) —REE4325 0.4 0.4 0.4 11.3 7. 6.8 0.0 0.0 3.5 0.0 2 0.3 0.0 0.0 0.0 0.1 0.0 0.0 0.0 2 3 0 40 061870
i 2.3 2.0 1.8 1.8 0.0 0.0 0.0 0.9 0.0 0.0 1.9 5 10 0
247 NEERILTRR 061800 NEERLE —REE4325 1.2 0.7 0.4 12.0 1. 6.0 0.0 0.0 2.5 0.0 2 0.7 0.0 0.0 0.0 0.6 0.0 0.0 1.2 3 8 0 40 061880
247 NEERIITRR 061810 —HEN4325 —REHEOS (RITHE - fH) 2.7 1.9 1.3 8.0 6. 55 0.0 0.0 2.5 0.0 2 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 21 0 40 061890
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£ #E #®E VE BE HEE ®E y L oH
(km) tkm) | (km) (m) (m) (m) (m) (m) (m) (m) Gkm)  Ckm) | Ckm) | Ckm) | Ckm) | (km) | C(km) | (km) (km/h)
247 i} , 061820 —HSEIEOS (FATEER - fAl3 —BEEE 61900
NEERILTRR BEESS GAILER - AH) BEREoS 0.4 0.4 02 48 4 3.8 0.0 00 2 0.0 1 0.2 0.1 00 00 01 O 0.0 0.0 1 4 0 30 0
o 4.3 30 1.9 200 0.1 00 00 07 O 000 1.2 5 33 0
248 % # 61830 BOREF-ITRA —BEHE4 328 61910
HRALE BROEREITE REE = 0.7 0.5 04 7.0 7. 55 0.0 00 O 0.0 2 0.0 0.0 00 00 00 O 0.0 0.6 0 3 0 30 0
o 0.7 0.5 04 000 00 00 00 00 O 0.0 0.6 0 3 0
249 b =4 61840 15 fe %t 4 =4 61920
NEERIL/\ER NEERLE ARRHEH 6.7 38 30 7.0 7 6.0 0.0 00 2 0.0 2 0.1 00 00 00 01 O 0.0 28 0 17 0 40 0
o 6.7 3.8 3.0 0.1 00 00 00 01 O 0.0 28 0 17 0
250 2k 61850 BOREF-ITRA )| —! % 61930
R iR BROERZITE BN AR 332 1.9 1.1 1.5 1. 55 0.0 00 2 0.0 2 0.6 0.1 00 00 01 O 0.0 25 0 8 0 40 0
250 i = 61860 11— 4 AEETEEEE 61940
R T —EXHR TABEIRRSR 3.0 30 30 102 7. 6.0 0.0 00 2 0.0 2 1.0 1.0 00 00 01 o0 0.0 30 2 7 0 50 0
. . - 061950
250 [ TES 61870 ABEEIEEES INMFE
R iR TAREILFERR hMERER 3.6 30 30 9.8 7 6.0 0.0 00 2 0.0 2 2.4 2.4 00 00 07 O 0.0 34 4 18 0 50 061960
o 9.8 7.9 71 40 35 00 00 09 O 0.0 89 6 33 0
252 # 61880 # i % ; 61970
HA R SAWE (88 HAWE (88 7.0 7.0 7.0, 6.5 6. 55 0.0 00 O 0.0 2 0.0 0.0 00 00 00 O 0.0 1.8 0 12 0 40 0
252 # el 61890 61980
AL (18:E) AR AL 21 0.2 00 40 4 3.0 0.0 00 O 0.0 1 000 0.0 00 00 00 O 0.0 0.0 0 3 0 30 0
i 9.1 7.2 1.0 0.0 0.0 00 00 00 O 0.0 1.8 0 15 0
. . 061990
253 e N 61900 NTRE T BIR S
AHAER WITER=FRER HILRR 0.5 0.5/ 0.5 20.5 11. 6.5 00 0.0 3. 0.0 2 0.5 0.5 00 00 05 0 0.0 05 4 5 0 40 062000
i 0.5/ 0.5 0.5 0.5 0.5 00 00 05 O 0.0 05 4 5 0
254 21— 61910 —BEEIE —BEE S (IE 62010
72l J—HaR BEE oS BEECS GLEEER) 25 25 25 160 9 6.0 00 1.5 3 0.0 2 25 25 00 00 24 2 0.0 00 1 5 0 5
254 21) Y — h 61920 —BEEOE (ILiE: T i 4 62020
RER Y= HR BERE0S GLRER) HPRERT 1.3 1.3 1.3 11.0 7. 6.0 0.0 00 3. 0.0 2 1.3 1.3 0.0 00 00 o 0.0 00 1 6 0 50 0
254 21) Y — b 61930 21) ) — —BEEOE (IzE 62030
72l J—Ha k2 V- R BEEOS GLEEER) 0.1 01/ 0.1 134 13 12.4/ 0.0 00 o0 0.0 2 000 00 00 00 00 O 0.0 0.0 0 1 0 40 0
i 3.9 39 3.9 3.8 38 00 00 24 2 0.0 00 2 12 0
. 062040
255 =M 61940 BOBSEEITRA e ¥
FEHR BROBRE:(H# EREER 0.5 0.5 0.5 132 7. 6.0 00 00 1. 0.0 2 0.5 0.5 00 00 05 0 0.0 05 0 5 0 40 062050
255 ERL 61950 puce: 3 —BEE191E 62050
SRR BRZER BEE = 0.1 01/ 01 123 o 8.3 0.0 00 1. 0.0 2 0.1 0.1 00 00 01 O 0.0 0.1 0 2 0 40 0
= 0.6 0.6 06 0.6 0.6 00 00 06 O 0.0 0.6 0 7 0
256 ER I 61960 =554 62060
EEAE R bt HEFTR R 1.9 1.9 1.9 125 7. 6.0 0.0 00 5. 0.0 2 1.9 1.5, 0.0 00 01 o0 0.0 0.0 0 6 0 60 0
= 1.9 1.9 1.9 1.9 1.5 00 00 01 o0 0.0 00 0 6 0
257 sy 61970 —EEE4 328 e 62070
TMRRR BEE = =R 9.4 39 08 60 6 50 0.0 00 O 0.0 1 0.0 0.0 00 00 00 O 0.0 1.3 0 10 0 60 0
257 R KA 62000 —BpEE4 328 e 062070
R HEE = R 0.3 03 03 7.1 7. 55 0.0 00 O 0.0 2 000 0.0 00 00 00 O 0.0 0.0 0 2 0 60
062075~
257 R H 61980 e e K B
HRRRE HRRRR RRIEABRR 7.1 7.1 1.1 9.3 6. 55 0.0 00 2 0.0 2 49 1.1 00 00 03 O 0.0 55 1 30 0 50 062090
257 R KA 61990 = A . —fpEE B 062100
R RREAAMR REE S 4.1 41, 4.1 100 7. 6.0 0.0 00 2 0.0 2 3.0 1.7 00 00 01 O 0.0 31 2 8 1 40
e 20.9 15.4 12.3 7.9 2.8 00 00 04 o0 0.0 9.9 3 50 1
258 1% 62010 = A # %1% A 062120
HEMBR RREAAMHR HIANER 0.1 01 01 80 8 6.5 0.0 00 o0 0.0 2 00 00 00 00 00 O 000 0.0 0 3 0 60
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(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) km) | km) | Ckm) | (km) | (km) | (km) | (km) | (km) (km/h)
258 SHRER 062020 RERER RERER 1.4 7.3 3.6 10. 7. 6.0 0.0 0.0 2. 0.0 2 1.7 1.7 0.0 0.0 0.0 0. 0.0 1.5 0 20 0 60 062120
258 NEmER 062030 S HAMBR 1.3 1.3 1.3] 10. 7. 6.0 0.0 0.0 2. 0.0 2 1.3 1.3 0.0 0.0 0.0 0. 0.0 1.3 0 5 0 60 062120
258 SHRER 062040 RERER —REE4325 1.1 1.1 1.1 10. 7. 6.0 0.0 0.0 2. 0.0 2 1.1 1.1 0.0 0.0 0.0 0. 0.0 1.1 0 1 0 60 062120
258 NEmER 062050 —HEN4325 TR - RUEAT W 4.1 0.8 0.0 5. 5. 4.0 0.0 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 8 0 60 062150
258 SHRER 062060 TR - RUHRAT REERR 0.2 0.0 0.0 4. 4. 3.0 0.0 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 1 0 60 062150
258 NEmER 062070 HMEERR —HEN3 145 0.6 0.2 0.0 4. 4. 3.0 0.0 0.0 1. 0.0 1 0.1 0.0 0.0 0.0 0.0 0. 0.0 0.2 0 3 0 30 062160
i 14.8 10.8 6.1 4.2 4.1 0.0 0.0 0.0 0. 0.0 4.1 0 41 0
259 AERR 062080 REEARDIR AR BRER 1.5 6.5 4.0 7. 7. 6.0 0.0 0.0 2. 0.0 2 1.1 0.0 0.0 0.0 0.0 0. 0.0 3.9 2 45 0 40 082;;86’
i ¥8 6.5 4.0 1.1 0.0 0.0 0.0 0.0 0. 0.0 3.9 2 45 0
260 FEBESRIR 062090 —HEN4315 AEREHIR 9.2 8.8 7.6 7. 7. 5.5 0.0 0.0 3. 0.0 2 4.0 3.2 0.0 0.0 1.4 0. 0.0 9.2 2 22 0 40 Ogggg;
260 FERBLILR 062100 AERERILIR AERERILIR 3.1 3.1 3.1 7. 7. 6.0 0.0 0.0 3. 0.0 2 0.1 0.1 0.0 0.0 0.1 0. 0.0 0.0 1 4 0 50 062240
260 FEBERIR c62110 AEEEHIR AEREHIR 2.1 2.1 2.1 14, 9. 6.0 0.0 1.5 3. 0.0 2 2.1 2.1 0.0 0.0 2.1 2. 0.0 2.1 2 8 0 40 062250
260 FERBLILE c62120 wLmiR RITERRREAR 1.3 1.3 1.3 29. 19. 16.0 0.0 0.0 5. 0.0 4 1.3 1.3 0.0 0.0 1.3 1. 0.0 1.3 5 7 0 40 Qggggg(’;
260 FEBEERIR 062130 /AT & AEREHIR 0.6 0.6 0.6 18. 10. 9.5 0.0 0.0 3. 0.0 2 0.6 0.6 0.0 0.0 0.6 0. 0.0 0.0 1 3 0 60 062290
i 16.3 15.9 147 8.1 7.3 0.0 0.0 5.5 4. 0.0 12.6| 11 44 0
261 BT RS 062140 —HEN4315 —HENOS 1.3 1.3 0.9 11 6. 5.5 0.0 0.0 2. 0.0 2 0.7 0.3 0.0 0.0 0.4 0. 0.0 1.3 5 3 0 40 08(23%215;
i 1.3 1.3 0.9 0.7 0.3 0.0 0.0 0.4 0. 0.0 1.3 5 3 0
263 RIABITR 062150 HIIAR®R —REEOS (RITHE - fH) 1.5 1.1 1.0 7. 7. 5.5 0.0 0.0 2. 0.0 2 0.7 0.1 0.0 0.0 0.1 0. 0.0 1.5 2 9 0 40 062320
263 ADA SRR L —REE oS (ALER - fIiE) EREELR 3.3 3.3 3.3 1. 8. 6.5 0.0 0.0 4. 0.0 2 3.3 3.3 0.0 0.0 2.0 2. 0.0 0.2 1 12 0 50 062330
il 4.8 4.4 4.3 4.0 3.4 0.0 0.0 2.1 2. 0.0 1.7 3 21 0
264 AT ce2170 HLmiR RITERRREAR 5.5 5.5 5.5 9. 1. 5.5 0.0 0.0 2. 0.0 2 3.1 2.6 0.0 0.0 0.0 0. 0.0 5.5 1 23 0 40 gggggg
264 MEEIR 062180 WITER=FRER —HEE4315 4.1 4.1 4.1 9. 6. 5.5 0.0 0.0 2. 0.0 2 3.3 0.0 0.0 0.0 0.1 0. 0.0 2.7 0 13 1 40 gggggg
i 9.6 9.6 9.6 6.4 2.6 0.0 0.0 0.1 0. 0.0 8.2 1 36 1
265 RADERA 062190 —HRENSS RRER 2.8 2.8 2.8 17. 7. 6.0 0.0 0.0 5. 0.0 2 2.8 2.8 0.0 0.0 2.5 2. 0.0 2.2 1 26 0 50 062380
i 2.8 2.8 2.8 2.8 2.8 0.0 0.0 2.5 2. 0.0 2.2 1 26 0
266 ABREBER 062200 —HEN4315 ABRBBER 7.4 4.7 4.3 7. 7. 5.5 0.0 0.0 0. 0.0 2 2.8 0.8 0.0 0.0 0.2 0. 0.0 7.1 1 16 0 40 06239
266 ABRBBRE 062220 ABRAERR LELEL LS 1.9 1.5 0.0 5. 5. 4.0 0.0 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 1 0 40 062410
266 ABREBER 062230 LELEL L Rl 4.6 0.0 0.0 1. 1. 0.7 0.0 0.0 0. 0.0 1 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.0 0 1 0 30 062420
266 ABRBBRE 062240 EREAES RITERRREAR 1.2 0.8 0.2 6. 6. 4.2 0.0 0.0 2. 0.0 1 0.2 0.0 0.0 0.0 0.0 0. 0.0 0.8 1 7 0 40 062430
266 ABREBER 062250 ABRBBRR HEASNGR L R 1.7 1.7 1.7 6. 6. 5.5 0.0 0.0 0. 0.0 2 0.0 0.0 0.0 0.0 0.0 0. 0.0 0.8 0 2 0 40 062440
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(km) tkm) | (km) (m) (m) (m) (m) (m) (m) (m) Gkm)  Ckm) | Ckm) | Ckm) | Ckm) | (km) | C(km) | (km) (km/h)
266 F S B 062210 G o R 5 8 R 62400
KBRAEER AEREE R AEREE R 1.6/ 1.6 1.6 10.0 6. 55 0.0 00 2 00 2 1.6/ 00 00 00 00 00 00 00 0 2 0 0
o 18.4 10.3 7.8 46 08 00 00 02 00 00 87 2 29 0
267 Fip EPCT 062260 AT AR EEEE LY 62450
BRRER BIERR EREELR 7.7 27 00 50 5 40 00 00 O 0.0 1 00 00 00 00 00 00 00 23 0 11 0 60
267 S EISRE 62270 EEEILG —fEEEoE 62460
BHRER ERSELA REE S 83 76 69 83 6 55 00 00 1 0.0 2 49 49 00 00 00 00 00 80 1 20 1 50 O
G 6.0 10.3| 6.9 49 49 00 00 00 00 00 103 1 31 1
268 F R 62280 RRARRE PR 62470
LASFARAR RRRRH EABXRS 13.00 47 33 35 3 25 0.0 00 2 0.0 1 05 00 00 00 00 00 00 1.0 0 15 0 0
268 A KES 062290 EABAES FABAES 62480
ABRRBR AERRR AERRR 03 03 03 75 1. 6.0 00 00 O 00 2 00 00 00 00 00 00 00 00 0 0 0 0
268 L 62300 K E AT ARE 62480
EASARAR EABXRS HIAR#R 04 04 04 75 1. 6.0 00 00 2 00 2 01 00 00 00 00 00 00 00 1 0 0 0
e 13.7 54 40 06 00 00 00 00 00 00 1.0 1 15 0
269 SEEES 062310 BORAE,HEA & LRI 62500
SERHER BROBRE:(H BeLAAR 47 36 22 50 5 40 00 00 4 0.0 1 1.00 1.0, 00 00 00 00 00 00 0 1 0 0
269 2 [ 5 £62320 e T - BUHEE 3 62510
= HRHER B bR F - SHEAT 5 13.00 7.8 50 45 4 30 00 00 2 0.0 1 08 00 00 00 00 00 00 00 0 14 0 0
269 HERHEY £62330 =T - BINEE 1B ERHES 62510
SERHER M - RAEAT HERMER 36 2.3 1.3 50 5 40 00 00 O 0.0 1 00 00 00 00 00 00 00 00 0 3 0 30 0
ci 21.3) 13.7 8.5 1.8/ 1.0 00 00 00 00 00 00 0 28 0
270 E =R e EE 62340 —BEE3 148 EEEILG 62520
TRELESAFRAR BEES3 145 ERSELA 9.0 9.0 90 70 T 55 00 00 2 00 2 04 02 00 00 00 00 00 09 1 11 0 60
270 E=REES 62350 s EEILS —BEE3 148 62530
TREUE=REESR EREELR BEE = 0.2 02 02 124 &6 55 0.0 00 2 00 2 01 00 00 00 01 00 00 02 1 2 0 0
o 9.2 9.2 92 05 02 00 00 01 00 00 1.1 2 13 0
271 RN 062360 A E EW -2 e 62540
REARE HBAHBR wEm - ZEH R 37 30 1.8 710 1 55 0.0 00 0 00 2 00 00 00 00 00 00 00 00 0 8 0 60
271 RN 62370 == 1% —BEES 42 62550
RERRH® WEm - ERm M BEES 45 70 26 1.8 40 4 30 00 00 2 0.0 1 09 09 00 00 01 00 00 34 1 19 0 60
. e 062560
271 AR 062380 —BEES 42 K4
REARR BEES 45 RRARR .70 1.7 1.7 120 7. 6.0 0.0 00 2 0.0 2 1.7 1.7 00 00 1.6 1.6 00 1.6 3 14 0 40 | 062570
ot 12.4 7.3 5.3 26 26 00 00 1.7 16 00 50 4 41 0
272 EHA= IR 062390 & ERHE B 62580
SH=TR& BeLFsiE HBAHBR 9.3 9.3 09 61 6 50 00 00 2 0.0 1 03 01 00 00 00 00 00 08 1 10 0 60
272 EH=TIES 62400 Nt —BEES 42 062590
SHZTIBR Baxna BEES 45 52 35 11 55 5 45 00 00 2 0.0 1 05 00 00 00 00 00 00 52 1 24 0 40
i 14.5 12.8 2.0 08 01 00 00 00 00 00 60 2 34 0
273 EHEES 62410 & E R % 062600
=EHRRR B bR &8) 12200 45 40 65 6. 55 0.0 00 2 0.0 1 08 00 00 00 00 00 00 00 0 14 0 60
273 = HIERY 62420 % —BEES 42 062600
= R &E8) BEES 45 7.5 6.3 53 100 T 6.0 00 00 2 00 2 42 42 00 00 07 07 00 54 1 17 0 60
o 19.5 10.8/ 9.3 50 42 00 00 07 07 00 54 1 31 0
274 ¥ B 77 24 062430 %4 —BEE4328 062610
RECEHEHR RERER BEE = 6.6/ 6.1 06 57 5 40 00 00 O 0.0 1 00 00 00 00 00 00 00 58 0 4 0 60
o 6.6 6.1/ 06 00 00 00 00 00 00 00 58 0 4 0
275 AREBEIEESY 62440 BORSFTRA 21| — K3t 062620
TABEIREAR BROEREITE BN AR 1.5 0.7 03 715 1. 6.0 00 00 2 00 2 03 00 00 00 00 00 00 15 0 5 0 30
275 AEEIEESRS 062450 11— % B2 2 4o 062630
TABEIRRAR Ll —EXHR bl 4 31 31 31 90 & 55 00 00 2 00 2 28 27 00 00 01 00 00 29 1 8 0 50
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275 TARETIRRER 062460 B8 HMETFHE 1.6 1.6 1.6 1.5 1.5 6.0 0. 0.0 2.7 0.0 2 0.5 0.5 0.0 0.0 0.5 0.5 0.0 0.8 2 1 0 50 062640
275 TARMILIHRER 062470 MEFER FEAT - AT 0.2 0.2 0.2 9.0 6.0 5.5 0. 0.0 3.0 0.0 2 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0 2 0 50 062650
275 TARETIRRER 062480 RN - LA —REEeS 3.0 3.0 3.0 8.7 7.0 5.5 0. 0.0 1.7 0.0 2 2.9 2.9 0.0 0.0 0.1 0.0 0.0 0.0 4 16 0 50 062650
i 9.4 8.6 8.2 6.7 6.3 0.0 0.0 0.7 0.5 0.0 5.2 1 42 0
276 RS 062490 —REE4315 —REEOS (HR//1) 4.1 3.8 3.3 10.0 1.5 6.0 0. 0.0 2.5 0.0 2 2.1 1.0 0.0 0.0 0.3 0.0 0.0 3.0 3 10 1 40 8252?8
276 i 062500 —HEEOS (MB/SA3R) —HEN1845 0.6 0.6 0.6/ 27.0 17.0 16.0 1. 0.0 4.5 0.0 4 0.6 0.6 0.0 0.0 0.6 0.6 0.0 0.6 4 5 0 50 gggg;g
al 4.7 4.4 3.9 2.7 1.6 0.0 0.0 0.9 0.6 0.0 3.6 1 15 1
27 SHIMLER 062510 —HRENOS MBS 25 —& 7.5 7.4 0.9 6.0 6.0 5.0 0. 0.0 2.5 0.0 1 0.1 0.0 0.0 0.0 0.1 0.0 0.0 0.5 2 20 2 40 gggggg
217 SHIMHER 062520 MEA ¥ 5~ FHIABR 1.4 0.1 0.1 6.6 6.6 5.6 0. 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.4 2 5 0 40 062710
27 SHIMLER 062530 RHLARER SRIHUESR (BH) 1.7 1.7 1.7 27.00 19.0 9.5 0. 0.0 4.0 0.0 2 1.7 1.7 0.0 0.0 1.7 1.7 0.0 0.3 2 1 0 60 062720
27 SHIMHER 062540 BuIALRR (R —REE184% 1.3 1.3 1.3/ 12.6 7.0 6.0 0. 0.0 2.8 0.0 2 1.3 1.3 0.0 0.0 1.3 1.3 0.0 1.3 2 8 0 50 062730
27 SHIMLER 062550 —HEN1845 BRIHUESR (1B 1.2 1.2 1.2 20.0 9.0 6.0 0. 0.0 5.5 0.0 2 1.2 1.2 0.0 0.0 1.2 1.2 0.0 1.2 2 7 0 50 062740
217 SHIMHER 062560 BtLIALRR (RE) B=NER 0.3 0.3 0.3/ 25.0 16.0 13.0 2. 0.0 4.0 0.0 4 0.3 0.3 0.0 0.0 0.3 0.3 0.0 0.0 1 2 0 60 062740
27 SHIMLER 062570 E=7BR BRITMIHESR (B 1.2 1.2 1.2/ 25.00 17.0| 14.8 1. 0.0 4.0 0.0 4 1.2 1.2 0.0 0.0 1.2 1.2 0.0 0.0 5 8 0 60 062750
2717 ZHIEEER 062580 ZEIAEER (1BE) SECIREERTESTI0158R & ik 0.7 0.7 0.7 263 183 16.0 n 0.0 40 0.0 4 0.7 0.7 0.0 0.0 0.7 0.7 0.0 0.0 4 4 0 40 962760
27 SIMLER 062500 | &t iTi MR 5 101540 & Heh —HEN1845 0.2 0.2 0.2/ 25.0 16.5 15.5 0. 0.0 4.5 0.0 4 0.2 0.2 0.0 0.0 0.2 0.2 0.0 0.2 1 3 0 40 062760
217 SHIMHER 062600 —REE184% WESHIIBE TR R 0.3 0.3 0.3/ 25.0 16.3 15.3 0. 0.0 4.0 0.0 4 0.3 0.3 0.0 0.0 0.3 0.3 0.0 0.0 1 5 0 40 062770
217 SIMLSR 062610 BHERRESR BRIHUER 1.5 0.4 0.2 6.9 6.9 4.5 0. 0.0 2.5 0.0 1 0.2 0.2 0.0 0.0 0.2 0.2 0.0 1.5 1 7 1 40 062780
al 17.3 14.8 8.1 1.2 7.1 0.0 0.0 1.2 7.1 0.0 6.4 23 80 3
278 XRATR 062630 —HEN4315 RRSHR 1.3 0.4 0.4 6.5 6.5 5.5 0. 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 2 8 1 40 062800
278 KRS 062640 RESHR ENHRRLER 0.9 0.9 0.9 145 1.5 6.5 0. 0.0 3.5 0.0 2 0.9 0.9 0.0 0.0 0.4 0.4 0.0 0.0 3 2 0 60 062810
278 XRATR 062650 ENHEXHR —HEEOS (MBE/SA3R) 1.4 1.4 1.4/ 14.0 7.0 6.0 0. 0.0 3.5 0.0 2 1.4 1.4 0.0 0.0 1.4 1.4 0.0 1.4 3 9 0 40 062820
278 KRS 062660 —REEOS (HR//1) EESHR 0.1 0.1 0.1 27.0 17.0 16.0 1. 0.0 4.5 0.0 4 0.1 0.1 0.0 0.0 0.1 0.1 0.0 0.1 3 4 0 40 062820
i 3.7 2.8 2.8 2.4 2.4 0.0 0.0 1.9 1.9 0.0 2.3 1 23 1
279 HEBRE 062670 BROEREIIEHM AHLABR 3.7 3.7 2.7 11.0 1.5 6.0 0. 0.0 3.5 0.0 2 2.7 0.3 0.0 0.0 0.3 0.2 0.0 3.7 2 20 0 40 825328
i 3.7 3.7 2.7 2.1 0.3 0.0 0.0 0.3 0.2 0.0 3.7 2 20 0
280 ERNEFEER 062680 —REE184% R - SR % 7.8 1.6 0.4 4.0 4.0 3.0 0. 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0 3 0 30 062850
260 BB EFRSR 062690 R - SEHT T EFRAR 5.8 2.7 1.4 7.0 7.0 5.5 0. 0.0 2.0 0.0 2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 7 0 40 062850
i 13.6 4.3 1.8 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0 10 0
281 EECR 062700 B/ EREAR WEm - XBm M 56 3.9 1.4 50 5.0 4.0 0. 0.0 0.0 0.0 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0 3 0 60 062860
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281 3 =’ 62710 =7 1= , 62860
ZEWO® wMED - KE® B REEER 44 34 04 50 50 40 00 00 00 00 1 0.0 00 00 00 00 00 00 44 0 4 0 60
o 0.0 7.3 1.8 00 00 00 00 00 00 00 49 0 7 0
= Py 2 P B\ = 4 ‘*
283 BEHEaH 062720 M SR EZRE L RS 50 01 00 30 30 20 00 00 00 00 1 0.0 00 00 00 00 00 00 00 0 5 0 g 202870
283 EREEE 62730 ESIRG L ES =i - = 15 62880
ERRER HE SRR & R WEm - ZRm M 1.0 00 00 20 20 00 00 00 00 00 1 00 00 00 00 00 00 00 00 0 0 0 60
283 EREE 62740 EH - 15 ; % 62880
EHEaH wEm - ZFH R TOMER L 1.8 00 00 25 25 00 00 00 00 00 1 0.0 00 00 00 00 00 00 00 0 0 0 60
283 EREEE 62750 BATRER —BEES 42 62890
ERRER T REEN BEES 45 6.7 36 12 50 50 40 00 00 00 00 1 00 00 00 00 00 00 00 00 0 9 0 60
G 145 3.7 1.2 0.0 00 00 00 00 00 00 00 0 14 0
284 62760 —fEEEoE = 15 62900
Bl ARS REE S il - XEW X 46 46 46 100 75 60 00 00 25 00 2 38 38 00 00 01 01 00 46 0 11 0 50 O
284 % % 62770 = 5 ; =EigY 62910
LR E#R wE® - KEW BEATFEHH 33 20 08 50 50 40 00 00 00 00 1 0.0 00 00 00 00 00 00 33 0 4 0 0
284 62780 ; ESFTEY =HRILABES 62910
Bl ARS BEAFHRAR LR 7.3 04 04 40 40 30 00 00 00 00 1 00 00 00 00 00 00 00 00 0 2 0 60
ci 5.2 7.0 5.8 38 38 00 00 01 01 00 79 0 17 0
285 ; 62790 —pEEoE —pEEoE 62920
RRAFH REE oS REE S 6.6 53 31 84 65 55 00 00 1.7 00 2 39 1.8 00 00 01 01 00 66 4 13 1 0
i 6.6/ 53 3.1 39 1.8 00 00 01 01 00 66 4 13 1
286 ; S EIR 62800 =HILABES % 62930
EAAFHRLAR LR REEDRR 56 1.4 11 35 35 25 00 00 25 00 1 0.4 00 00 00 00 00 00 00 0 5 0 60
. . 062940
286 AR FEES 62810 Ak R & = .
BEATFERHR REEER SE8 - M 1.1 37 34 35 35 25 00 00 25 00 1 0.3 0.0 00 00 00 00 00 48 0 9 0 60 062970
286 ; EE 5 62840 9g - gLE —pEEE 62950
BAAFHRLAR S86 - MR REE oS 05 05 05 100 75 60 00 00 25 00 2 0.5 00 00 00 01 00 00 05 1 1 0 60
286 ; =B 154 62820 —pEEoS Y 62960
BEATHERR BEEoS AFEH 1.9 1.4 1.3 92 70 55 00 00 22 00 2 1.3 1.3 00 00 00 00 00 00 1 12 0 0
286 ; S EIR 62830 Bl BORaE-ITRA 62960
BEAFHLAR AFER BROER S 03 01 00 66 66 55 00 00 00 00 2 00 00 00 00 00 00 00 00 0 4 0 0
i 19.4 7.1 6.3 25 13 00 00 01 00 00 53 2 31 0
287 EEIS 62850 —pEEE S EIB 62980
HHAFERSR REE oS HHMAFRRAR 1.8 1.8 10 90 65 55 00 00 25 00 2 1.4 05 00 00 00 00 00 02 0 10 0 0
287 =B 154 62870 ZEIHY ZEIHY 063000
HMAFFEAR BMAFFEAR BMAFREAR 1.4 1.4 1.4 100 75 60 00 00 25 00 2 0.8 00 00 00 00 00 00 04 0 6 0 40
287 EE5H 62860 =B ; =I5 062990
HHAFERSR HHMAFRRAR BEAFHRAR 21 21 21 110 7.5 60 00 00 35 00 2 .1 0.8 00 00 00 00 00 00 0 5 0 30
i 53 53 45 33 1.3 00 00 00 00 00 06 0 21 0
288 IPY" 62890 SHRLA B —BpEE37 58 063020
LimI &8 RLaE® HEE = 3.4 34 34 11.2 7.0 60 00 00 25 00 2 1.9 03 00 00 05 03 00 34 1 6 0 50
G 3.4 34 34 1.9 03 00 00 05 03 00 34 1 6 0
N e 063030
289 | B+ IS 62900 33T BOBAE-ERA
AT +HEFIAR REHTHR BROERS G 10.00 46 3.7 7.0 7.0 55 00 00 25 00 2 0.7 0.0 00 00 00 00 00 00 0 11 0 30 063040
e 10.0 46 3.7 0.7 00 00 00 00 00 00 00 0 11 0
290 E RS EIE 62910 S —fpEEoS 063050
REREERSR CRan® REE S 32/ o1 01 35 35 25 00 00 25 00 1 0.1 00 00 00 00 00 00 00 0 2 0 60
290 EREEing 62920 —BEE oS BOEREAEIERE 063060
XEREFEAR BEREoS BROEREITE 1.1 00 00 33 33 23 00 00 00 00 1 0.0 00 00 00 00 00 00 00 0 7 0 60
ol 43 01 0.1 01 00 00 00 00 00 00 00 0 9 0
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063065
291 I )1 A 62930 il , ERET - I 5
RN RBAHR ST - NIRRT 15.2| 40 3.6 35 35 25 00 00 30 00 1 1.0 0.0 00 00 00 00 0.0 10 0 11 0 30 063070
291 B 62940 <l % [~ FE B 63070
BRI SSHAT - IR CRANR 1.1 01 00 35 35 25 00 00 00 00 1 000 00 00 00 00 00 00 O 0 1 0 30 0
291 EAlES: 62950 [~ FE B i [ R 63080
RN R EmR NAERR®R 1.8/ 0.0 00 40 40 30 00 00 00 00 T 0.0 0.0 00 00 00 00 00 O 0 2 0 30 0
291 NlES 62960 [~ FE B —pEE26 18 63090
BRI CRAN®R HEE = 31 1.0 02 7.2 63 55 00 00 09 00 2 0.6 00 00 00 00 00 00 O 0 5 2 30 0
G 21,20 51/ 3.8 1.6 0.0 0.0 00 00 00 0.0 10 0 19 2
292 F BRI 62970 = # F B 63100
FaRARARR SLES i FRAFARR 33 22 20 7.0 70 55 00 00 25 00 2 0.3 00 00 00 00 00 00 3 0 8 0 60 0
e 3.3 22 20 0.3 0.0 00 00 00 00 00 3. 0 8 0
293 = RS 62980 # EHEES 63110
BRUTR REFXR =EAM® 52 51 49 100 75 60 00 00 25 00 2 49 44 00 00 00 00 00 5. 0 19 0 60 0
e 52 51 4.9 49 44 00 00 00 00 00 5. 0 19 0
063120
294 = 62990 # 2 . -
LS FEERE UL 8.0 06 00 40 40 30 00 00 00 00 1 0.0 00 00 00 00 00 00 2 0 2 0 60 063130
294 = # 63000 2 . ) 2 4 63130
BEAH Bl - ST BRI 44 1.9 06 50 50 40 00 00 00 00 1 0.0 00 00 00 00 00 00 O 0 5 0 60 0
o 124 2.5 0.6 000 00 00 00 00 00 00 2 0 7 0
295 EEES 63010 SEAVEAK £ 5 T4 063140
R frAR lbted 0.2 0.2 02 1.5 90 60 00 20 25 00 2 0.2 00 00 00 00 00 00 O 0 1 0 60
- - 063140
295 RS 63020 & T4 2 - 5T -
BRI EHBITRR B pr M 1.3 2.1 1.0 65 65 55 00 00 00 00 2 0.0 00 00 00 00 00 00 3 0 10 0 60 063150
- . 063150
295 EEAES 63030 & - 5T ) ST - ) #
R BRET - TRT R LR - NIRRT 5 89 29 00 50 50 40 00 00 25 00 1 0.2 00 00 00 00 00 00 4 0 9 1 40 | 063160
295 BIIAE 63040 ST - I 1% WeAlEX 63160
BRI LA - IR AR I%8R 21 05 00 35 35 25 00 00 1.3 00 1 0.1 00 00 00 00 00 00 0O 0 3 1 40 0
i 225 57 1.2 0.5, 0.0 00 00 00 00 00 7. 0 23 2
296 I 63050 —EE RS [ . % 63170
NS0 Cmana NIRY - ST 30 00 00 30 30 20 00 00 00 00 1 000 00 00 00 00 00 00 O 0 3 0 60 0
296 I # 63060 [ . B —BE®37 58 63180
NiERH NI - ST 1 BEE = 6.8 08 00 27 27 1.7 00 00 00 00 1 0.0 00 00 00 00 00 00 O 0 6 0 40 0
o 9.8 0.8 0.0 000 00 00 00 00 00 00 O 0 9 0
297 &3 A T2 63070 —BEE26 18 EEAEKRE 063190
EHETLRR BEE = AEEAR 1.6/ 1.6 1.6 120 85 65 00 00 35 00 2 1.6 1.6 0.0 00 00 00 00 1. 1 4 0 60
297 £+ BT 63080 =g 2 - 3T % 63200
EHBILER AR BElr - TAT M 58 50 49 7.0 70 55 00 00 00 00 2 000 00 00 00 00 00 00 b5 0 8 0 60 0
297 F3:: b=t 63090 & - 5T ) T 2 63210
EHETLRR BRET - TRT R BT SR 337 0.3 00 47 47 37 00 00 00 00 1 0.0 00 00 00 00 00 00 O 0 6 0 60 0
297 £ 3 ST 2 63100 35T S 4 V)| TS 063220
EHBILRR BIaRR et )| A R R 9.4 1.5 02 50 50 40 00 00 25 00 1 0.2 00 00 00 01 00 00 b5 0 6 0 30
297 &3 T2 63110 i )| E S —BEE9E 063230
EHETLRR B AR BEREoS 52 52 52 105 80 60 00 00 25 00 2 47 47 00 00 1.2 1.2 00 5. 1 17 0 50
297 £ 34 T 2 63120 —fpEE o8 BOREE LIRS 063240
EHBILRR REE S BROERS G 0.1 01 00 84 57 51 00 00 12 00 1 0.1 00 00 00 01 00 00 O 1 2 0 30
G 25.8 13.7 11.9 6.6 6.3 00 00 1.4 1.2 0.0 18 3 43 0
- e 063250
298 e )| A B 15 4 63130 & T4 RIS
R 118 R R EHBITRR RiLER 1.1, 0.9 00 40 40 30 00 00 00 00 1 0.0 00 00 00 00 00 00 O 0 5 0 60 063260
e 1.1 0.9 0.0 0.0 0.0 00 00 00 00 00 O 0 5 0
299 SRS 63140 AT E RF 4 - T % 063270
FHITER EMER & RE - Lk 0.3 03 01 80 80 60 00 00 00 00 2 00 00 00 00 00 00 00 0O 0 3 0 40
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299 T £63150 EET - TET B T i 63270
THRIL#SR M - TRm 5 TRILES 31 22 03 55 55 45 00 00 3 0.0 1 0.3 03 00 00 02 02 00 00 0 5 o s O
299 L2 £63160 T 24 —fEEE o2 63270
TRILRSR THILRZSR REESS 0.7 07 07 1.0 1000 9.0 00 00 3. 0.0 2 0.7 07 00 00 07 07 00 07 1 5 o s O
299 T C63170 —REEOE (T L 63280
THRIL#ER REESS CLREH) TRILRS 0.5 05 05 165 150 10.0 1.5 2.5 0. 0.0 2 0.0 0.0 00 00 00 00 00 00 0 0 o a0 O
i 46 37 1.6 10 10 00 00 09 09 00 07 1 13 0
300 it i T B £63180 £ 3 T 24 A E A 4 63290
IR RS EHRETRE H PR 26 21 00 50 50 40 00 00 O 0.0 1 0.0 0.0 00 00 00 00 00 26 0 6 o s O
300 T 3 SHIGH 63200 i E FF 45 R 3T i 63310
TR T R PR T4 REM - LEE 5 0.0 00 00 130 105 90 00 00 2 0.0 2 0.0 0.0 00 00 00 00 00 00 0 0 o 6 O
300 it i TS B 63210 EEWT - TET B R TS E 1 63310
BT R AR M - TRh 5 R FR B 0.4 04 04 100 75 60 00 00 2 0.0 2 0.4 00 00 00 00 00 00 00 0 0 o 6 O
300 it i T S IR £63220 T S E R —fEEE o2 63310
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300 KPEEIY £63230 A E A & Pd:: [ = 63320
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ERIRRER ARIER G ARIER 2.2 22 22 120 95 10 00 00 2 0.0 2 1.8 00 00 00 00 00 00 00 1 1 o 6 O
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ARERER ARIER R REBOS (TR A /R) 28 28 28 1.0 85 70 00 00 2 0.0 2 28 00 00 00 02 00 00 00 I 0 0 60
s 6.0 6.0 6.0 56 1.0 00 00 12 10 00 00 5 11 1
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RS HRIEA > 5~ xR 41 41 41 70 170 55 00 00 3. 0.0 2 0.2 0.2 00 00 00 00 00 00 0 7 0 60
i 41 41 4 0.2 0.2 00 00 00 00 00 00 0 7 0
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RIERLR R BESR w - EmES 5 1.3 00 00 38 38 28 00 00 O 0.0 1 0.0 0.0 00 00 00 00 00 00 0 1 0 30
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e fes _ 063480
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329 BIRA > 5~ 063760 TR - RE® # AT 0.8 0.8 0.8/ 10.0 7. 6.0 0.0 0.0 2.5 0.0 2 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 1 0 50 063810
329 BiLR( ¥ 54 063770 EFER & RE BN 2.4 2.4 2.4 10.0 7. 6.0 0.0 0.0 2.5 0.0 2 2.4 2.4 0.0 0.0 0.0 0.0 0.0 2.4 0 6 0 50 063820
i 5.2 5.2 5.2 5.2 2.4 0.0 0.0 0.0 0.0 0.0 2.4 0 10 0
330 TR YZ 8 063780 —HENOS —HEEOS (L&/A/3R) 0.5 0.5 0.5/ 16.0 9. 1.5 0.0 0.0 3.5 0.0 2 0.5 0.5 0.0 0.0 0.5 0.5 0.0 0.0 2 0 0 40 063830
i 0.5 0.5 0.5 0.5 0.5 0.0 0.0 0.5 0.5 0.0 0.0 2 0 0
331 BREERER 063790 EREER —HEECS (EHEH) 1.8 1.4 1.4/ 15.0 10. 7.0 2.0 1.8 4.5 0.0 2 0.9 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0 3 0 50 063840
31 ERERBER 063800 RERZERER HEFHR 0.4 0.4 0.4 12.0 8. 6.5 0.0 0.0 3.5 0.0 2 0.4 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0 2 0 50 063850
i 2.2 1.8 1.8 1.3 1.3 0.0 0.0 0.0 0.0 0.0 0.0 0 5 0
332 ENEARA 25— 063810 —RE#5 4% RRARR 1.5 1.5 1.5/ 11.5 9. 7.0 0.0 0.0 2.5 0.0 2 1.5 1.5 0.0 0.0 0.1 0.1 0.0 0.4 5 1 0 50 8g§g$g
332 ENBARA L5 063820 Wi BMRE ENBEARA ¥ 5 —8 0.2 0.2 0.2/ 11.5 11, 10.0 0.0 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0 50 063880
i 1.7 1.7 1.7 1.5 1.5 0.0 0.0 0.1 0.1 0.0 0.4 5 1 0
333 ABA 23— 063830 —HEESS (R HEER 1.0 1.0 1.0/ 13.5 8. 6.5 0.0 0.0 5.5 0.0 2 1.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 2 0 0 50 063890
333 AIA 25— iR 063840 HEER —REEOS (EHEH) 1.5 1.5 1.5/ 13.8 8. 6.5 0.0 0.0 5.3 0.0 2 1.5 1.5 0.0 0.0 0.0 0.0 0.0 0.0 4 1 0 50 063890
il 2.5 2.5 2.5 2.5 2.5 0.0 0.0 0.0 0.0 0.0 0.0 6 1 0
334 ERA VI~ 063850 RRARR —REEOS (RRER) 1.4 0.0 0.0 17.0 12, 6.5 2.8 0.0 2.5 0.0 2 1.4 1.4 0.0 0.0 1.4 1.4 0.0 0.6 3 2 0 50 063900
334 BRAV5 4 063860 —HEECS (RRUH) HERRR 2.6 2.6 2.6 7.0 7. 6.0 0.0 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 4 0 50 063910
i 4.0 2.6 2.6 1.4 1.4 0.0 0.0 1.4 1.4 0.0 0.6 4 6 0
335 HEZERER 063870 MEZER MEm - @m0 0.9 0.9 0.9 24.0 8. 6.5 0.0 0.0 8.0 0.0 2 0.9 0.9 0.0 0.0 0.9 0.9 0.0 0.9 1 2 0 50 063920
33 HEZRRER 063880 B - I R RS 5—R 0.1 0.1 0.1 25.7 9. 8.2 0.0 0.0 8.0 0.0 2 0.1 0.1 0.0 0.0 0.1 0.1 0.0 0.1 1 0 0 50 063920
il 1.0 1.0 1.0 1.0 1.0 0.0 0.0 1.0 1.0 0.0 1.0 2 2 0
336 BEEEA 25 —& 063890 BRI AMEE BaLFsiE 1.6 1.6 1.6 1.5 7. 6.0 0.0 0.0 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 1 0 60 063930
il 1.6 1.6 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 1 0
337 HEA 25— 063900 RHIABR MEA ¥ 5~ 1.1 1.1 1.1 18.3 10. 9.5 0.0 0.0 4.5 0.0 2 1.1 0.7 0.0 0.0 0.8 0.7 0.0 0.0 2 3 0 60 063940
337 MBS 28 063910 MBS >S5 —& —HENSS 1.9 1.9 1.9/ 17.5 10. 9.5 0.0 0.0 3.5 0.0 2 1.0 0.5 0.0 0.0 1.0 0.5 0.0 0.0 3 2 0 50 063950
337 HEL 25— 063920 MEA ¥ 5~ B M EE 0.2 0.2 0.2/ 12.0 10. 7.0 2.0 1.5 0.0 0.0 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 0 0 40 063960
i 3.2 3.2 3.2 2.1 1.2 0.0 0.0 1.8 1.2 0.0 0.0 6 5 0
338 RRMA/ARKIR 063930 —REBGIS RRE/\RITRIE & R 4.5 4.5 4.5 7.0 7. 5.5 0.0 0.0 2.5 0.0 2 1.4 1.4 0.0 0.0 0.0 0.0 0.0 0.6 1 8 0 50 8223;8
338 SRE/\RIATH 063940 RRMARBITRTE R B 4.2 4.2 4.2/ 11.0 8. 6.5 0.0 0.0 2.5 0.0 2 4.2 0.0 0.0 0.0 0.0 0.0 0.0 0.6 0 23 0 60 063990
338 RRAARKIR 063950 Sl AERERILR 2.6 2.6 2.6 8.5 8. 6.0 0.0 0.0 2.5 0.0 2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 2.6 0 3 0 50 064000
i 1.3 11.3 11.3 5.8 1.4 0.0 0.0 0.0 0.0 0.0 3.8 1 34 0
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339 REEA 2] 063960 BEESS (RE PRIEER) i 0.6 0.6 0.6/ 10.8 8.3 7.0 0.0 2.3 2.5 0.0 2 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 1 0 40 064010
B 0.6 0.6 0.6 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 1 0
340 B3 —8 063970 —HREESS OB SH - MILER 1.1 1.1 1.0/ 13.0/ 10.5 9.0 0.0 0.0 2.5 0.0 2 1.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 2 4 0 60 064020
7 1.1 1.1 1.0 1.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 2 4 0
=R o
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